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          (Total: 20 marks) 
 

…………………………… 

May 2015 
 

Answer All questions. Marks allocated to each question are shown at the end of the question. Show All your 

workings. 

 

QUESTION ONE 

(a) Evaluate four limitations of the Altman‟s Z-score model for predicting corporate failure   

           (8 marks) 

 

(b) Chuma Ltd. is considering replacing a machine. The existing machine was bought 3 years ago at  a price 

 of Sh.50 million. The machine is expected to have a useful life of 5 more years with no  scrap value at 

 the end of its useful life. The machine could be disposed of immediately at Sh.35  million. The new 

 machine will cost Sh.80 million with a useful life of 5 years and an expected terminal value of Sh.5 

 million. With the introduction of the new machine, sales are expected to  increase by Sh.25 million per 

 annum over the next five years. 

 

 The contribution margin is expected to be 40% and the corporate tax rate is 30%. The operation  of the 

 new machine will also require an immediate investment of Sh.8 million in working capital. 

 Installation costs of the new machine will amount to Sh.6 million. 

 

 Depreciation is to be provided for on a straight line basis. The company‟s cost of capital is 12% 

 

 Required: 

 Advise the management of Chuma Ltd.on whether to replace the machine.  (12 marks) 

           (Total: 20 marks) 

 

 

QUESTION TWO 

(a) “Corporate diversification and conglomerate mergers are an experiment in portfolio theory applied 

 to corporations”. 

 Explain the above statement.         (4 marks) 

 

(b)  Describe how each of the following portfolio performance measures are used: 

 

(i) Treynor‟s ratio.          (2 marks) 

 

(ii) Jensen‟s alpha.          (2 marks) 

 

(c) The risk and return characteristics of two assets are as shown below: 

 

Asset     A    B 

Expected return   12%    20% 

Risk (standard deviation)       3%      7% 

 

 Uchumi Investment Company plans to invest 80% of its available funds in asset A and 20% in asset B. 

 The board of directors of the company believe that the correlation coefficient between the returns of these 

 assets is +0.1. 
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Required: 

(i) The expected return from the proposed portfolio of asset A and asset B.   (2 marks) 

 

(ii) The risk of the portfolio.        (2 marks) 

 

(iii) Comment on your calculations in part (c) (ii) above in the context of the risk-reducing effects of 

diversification.           (4 marks) 

 

(iv) Suppose the correlation coefficient between the returns of asset A and asset B was -1.0. 

Demonstrate how Uchumi Investment Company could invest its funds in order to obtain a zero-

risk portfolio.          (4 marks) 

         (Total: 20 marks) 

 

QUESTION THREE
 

(a)  In the context of financial management in the public sector, explain four objectives of performance 

 contracts in Public Sector Entities (PSEs).       (8 marks)  

 

(b)   Explain the difference between “open-end funds” and “closed-end funds”.   (4 marks)  

 

(c)  A share is currently selling at Sh.120. There are two possible prices of the share after one year: Sh.132 

 or Sh.105. Assume that the risk-free rate of return is 9% per annum. 

 

 Required: 

 The value of a one-year European call option with an exercise price of Sh. 125.  (8 marks) 

           (Total: 20 marks) 

 

 

QUESTION FOUR 

(a)  Explain the following methods of company restructuring and state the circumstances under which 

 each is appropriate: 

 

 (i)  Sell-offs.          (2 marks) 

 (ii)  Carve-outs.         (2 marks) 

 (iii)  Spin-offs.          (2 marks) 

 

(b)  Shuka Ltd., a company that manufactures mobile communication gadgets, intends to acquire Panda Ltd. 

 which is involved in developing communication and networking software. 
 

 The following financial information is provided for the two companies: 

Shuka Ltd.   Panda Ltd. 

Current share price       Sh.5.80         Sh.2.40 

Number of issued shares  210 million   200 million 

Equity beta             1.2    1.2 

Asset beta             0.9    1.2 
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 Free cash flow to the combined company will be Sh.216 million in current value terms and this  will 

 increase by an annual growth rate of 5% for the next four years before reverting to an annual growth 

 rate of 2.25% in perpetuity. 

 

The combined operations of the companies will result in cash savings of Sh.20 million per year for the 

next four years. 

 

The debt to equity ratio of the combined company will be 4:6 in market value terms and it is expected that 

the combined company‟s cost of debt will be 4.55%. 

 

Corporation tax of 30% applies to the company. The current risk-free rate is 2% and the market risk 

premium is 7%. It can be assumed that the combined company‟s asset beta is the weighted average of the 

respective companies‟ asset betas. 

 

 Required: 

 Estimate the additional equity value created by combining the two companies based on free cash  flows.  

            (14 marks) 

           (Total: 20 marks) 

 

QUESTION FIVE 

(a)  Explain how inflation rates could be used to forecast exchange rates.   (6 marks) 

 

(b)  Assume that the spot exchange rate equals 100 Japanese Yen (¥) to one US dollar ($) and the six- month 

 forward rate equals 101 Japanese Yen (¥)) to one US dollar ($). An investor can purchase a Treasury Bill 

 in the United States that matures in six months‟ time and earn an annual rate of return of 3%. 

 

 Required: 

 The annual rate of return on a similar investment in Japan.     (4 marks) 

 

(c)  You have been provided with the following series of exchange rates for the United States (U.S.) dollar 

 ($), the Canadian dollar (C$) and the British pound (£). 

 

$0.6000/C$  (C$1 .6667/$) 

$l.2500 /£ (£0.8000/$) 

C$2.500/£ (£0.4000/C$) 

 

 Assume that you have $1,000,000 in cash. 

 

Required: 

Demonstrate how you could take advantage of these exchange rates to obtain an arbitrage profit   

            (10 marks) 

           (Total: 20 marks) 

 

 

December 2014 
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Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL 

your workings. 

 

QUESTION ONE 

(a)  Explain three roles played by sensitivity analysis with specific reference to investment appraisal under 

uncertainty.           (6 marks) 

  

(b)  Dibco Ltd. is a manufacturing company which makes a wide range of products. One of these products 

requires the use of a special machine. 

 

The current policy of Dibco Ltd. is to replace each machine at the end of its useful life of four years. The 

directors of the company are considering whether to replace the machine more frequently due to the fact 

that its productivity declines and running costs increase as it gets older. 

 

There is insufficient demand for the company‟s products manufactured using the machine to justify 

purchase of a second machine. 

 

Dibco Ltd. sells the products made by the machine at Sh.12.00 each at which price it is able to sell up to 

500,000 units per annum. Variable costs, excluding machine depreciation and running costs, amount to 

Sh.4,00 per unit. 

 

Details of productive capacities and running costs of the machine are as follows: 

Year of machine  Productive  Running 

Life   capacity  cost 

(units)   Sh “000” 

1    500,000  600 

2   500,000  650 

3    400,000  750 

4     400,000  900 

 

The cost of buying the machine is Sh.6,000,000. The resale values of the machine are Sh.4,000,000 for a 

one-year old machine, Sh.2,500,000 for a two-sear old machine, Sh.1,000,000 for a three-year old machine 

and zero for a four-year old machine. The company provides depreciation for its non-current assets using 

the straight line method. 

All costs and revenues are paid or received in cash at the end of the year to which they relate except the 

initial cost of the machine which is paid immediately on purchase. The company has an annual cost of 

capital of 10%. 

 

Required: 

Advise the directors of Dibco Ltd. on whether to replace the machine every one, two, three or four years.  

(14 marks) 

(Total: 20 marks) 

QUESTION TWO 

(a)  Discuss three conceptual differences between the capital asset pricing model (CAPM) and the arbitrage 

pricing theory (APT).          (6 marks) 
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(b)  An investor is considering investing in the stocks of three companies, A Ltd., B Ltd., and C Ltd. The 

following information relates to the stocks of the three companies: 

 

Sensitivity of stock‟s returns to changes in: 

Company  Market index   Inflation rate   Economic growth rate 

A Ltd.    1.50   -0.10    0.56 

B Ltd.    0.90   0.10    0.60 

C Ltd.    1.10  -0.43    0.86 

 

During the year 2014. it is expected that the market index will increase in performance by 2.5% up from its 

current 5%. The risk free rate of return in the market will be 6% on average and the inflation and economic  

growth rates will be 10% and 5.6% respectively. 

 

Required: 

(i)  Expected returns for the three stocks in year 2014 using the capital asset pricing model (CAPM).  

(3 marks) 

(ii)  Expected returns for the three stocks in year 2014 using the arbitrage pricing theory (APT).  

(6 marks) 

(iii)  State the reason why an investor would gel different return estimates in (b)(i) and (b)(ii) above. 

(1 mark) 

 

(c)  When evaluating public sector project initiatives, it is critical to understand and assess the risks involved. 

This would help in putting in place a risk management and/or mitigation strategy. 

Highlight two categories of risks associated with public sector projects citing how each category of risk 

could be managed.          (4 marks) 

(Total: 20 marks) 

 

QUESTION THREE 

(a)  The following are the summarised financial statements of Shida Products Ltd., which is facing financial 

difficulties: 

Income statement for the year ended 31 December 2013: 

Sh “000” 

Turnover      1,209,000 

Earnings before interest and tax (EBIT)        84,000 

Interest          (39,000) 

Profit before tax      45,000 

Less tax      (15,000) 

Profit after tax (PAT)       30,000 

Dividends      (33,000) 

Retained earnings      (3,000) 

 

Statement of financial position as at 31 December 2013: 

Sh “000”   Sh “000” 

Assets 

Non-current assets (Net book value) 

Land and buildings       411,000 

Plant and machinery       384,000 
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Others           96,000 

891,000 

Current assets 

Inventory     303,000 

Trade receivables      63,000 

Bank balance         9,000   375,000 

Total assets                1,266,000 

 

Equity and liabilities 

Ordinary share capital (Sh.25 each)     147,000 

Retained earnings       222,000 

369,000 

Current liabilities 

Trade payables     381,000 

Taxation       15,000 

Dividends       24,000   420,000 

Long-term liabilities 

Bank loan        183,000 

10% debentures       294,000 

Total equity and liabilities               1,266,000 

 

Additional information: 

1. Corporation tax rate is 30%. 

2. The company‟s shares are currently trading at Sh.30 per share at the securities exchange. 

3. The company‟s cost of capital is 12%. 

4. Interest rate on the bank loan is 12%. 

5. The Altman‟s model for predicting corporate failure is as follows: 

 

Z = 1.2X1 + 1.4X2+ 3.3X3 + 0.6 X4 + 1.0 X5 

Where: 

X1 = Net working capital/total assets 

X2 = Retained earnings/total assets 

X3 = EBIT/total assets 

X4 = Market value of equity/book value of debt 

X5 = Revenue/total assets 

Required: 

The company‟s Z score. Comment on the results.      (12 marks) 

(b)  Other than the Altman‟s model, evaluate four other ways of predicting corporate failure.  (8 marks) 

(Total: 20 marks) 

QUESTION FOUR 

(a)  Analyse the differences between “passive fund management” and “active fund management”. (6 marks) 

(b)  Mijengo Ltd. a company engaged in real estate development, intends to acquire Saruji Ltd., a manufacturer 

of high quality cement. 

Mijengo Ltd. proposes to pay for the acquisition using one of the following three methods: 
 

Method 1 

A cash offer of Sh.10 per share of Saruji Ltd. 
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Method 2 

An offer of three of Mijengo Ltd.‟s shares for two of Saruji Ltd.‟s shares. 
 

Method 3 

An offer of a 2% coupon bond, Sh.100 par at the same yield to maturity as Mijengo Ltd.‟s existing bond, 

in exchange for 8 Saruji Ltd. shares. The bond will be redeemed in three years at par. 

 

The latest financial statements of the two companies are as follows: 

Mijengo Ltd.   Saruji Ltd. 

Sh. “000”   Sh. “000” 

Revenue    88,410   9,360 

Profit before tax   12,380    1,560 

Taxation    (2,480)    (310) 

  9,900    1,250 

Dividends    (5,400)    (550) 

Retained earnings    4,500      700 

Non-current assets   44,900    6,700 

Current assets       6,900      494 

Non-current liabilities    19,400    1,740 

Current liabilities      7,200       872 

Share capital       8,800    1,000 

Reserves     16,400    3,576 

 

The current market price is Sh.7.20 per share of Mijengo Ltd. and it is estimated that Saruji Ltd.‟s price to 

earnings ratio is 12.5% higher than Mijengo Ltd.‟s current price to earnings ratio. Mijengo Ltd.‟s non-

current liabilities include a 6% bond (Sh.100 par) redeemable in three years at par which is currently 

trading at Sh.104. The ordinary shares of Mijengo Ltd. and Saruji Ltd. have a par value of Sh.0.8. 
 

Mijengo Ltd. estimates that it could achieve synergy savings of 30% of Saruji Ltd.‟s estimated equity 

value by eliminating duplicated administrative functions, selling excess non-current assets and reducing 

the workforce if the acquisition was successful. 

Required: 

Estimate the percentage gain (or loss) on Saruji Ltd‟s shares under each of the above three payment 

methods.          (14 marks) 

(Total: 20 marks) 

QUESTION FIVE 

(a)  Distinguish between “integration of financial markets” and “segmentation of financial markets”. (4 marks) 
 
 

(b)  The introduction of the integrated financial management information systems (IFMIS) has been promoted 

as a core component of public financial reforms in many developing countries. 

Analyse four benefits that could accrue from the implementation of IFMIS,   (8 marks) 
 

(c)  A European call option trading at the securities exchange has an exercise price of Sh.40. Its maturity date 

is six months from now. The current stock price is Sh.28 and the instantaneous variance of the return of the 

underlying asset is 0.5. The risk free rate is 6%. 

Required: 

Use the Black-Scholes option pricing model to compute the value of the call option. 
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       (8 marks) 

(Total: 20 marks) 

…………………………………… 

May 2014 
Answer All questions. Marks allocated to each question are shown at the end of the question. Show 

All your workings. 

 

QUESTION ONE 
(a) Mr. Akili Mingi holds the following portfolio of four risky assets and a deposit in a risk free asset. The 

table below shows the respective portfolio weightings and the current returns on the assets, together with 

their beta coefficients. 

 

 Asset  Weighting (%)  current returns (%) Beta coefficient 

 A   20   12.0   1.5 

 B   10   18.0   2.0 

 C   15   14.0   1.2 

 D   25   8.0   0.9 

 Risk-free asset  30   5.0   0.0 

 

 The overall return on the market portfolio of risky assets is 11% and this is expected to continue for the 

foreseeable future. 

 

 Required: 

 (i) The portfolio current return and the portfolio beta.    (6 marks) 

  Briefly comment on these two measures. 

 

 (ii) Determine the assets which are inefficient, efficient or super efficient.  (6 marks) 

 

(iii) In view of your answer in (a) (ii) above, predict how the future asset values and, hence their rates 

of return would behave as the market moves towards full equilibrium.    

          (4 marks) 

 

(b) A fund is split between two securities X and Y. the following data relates to these securities: 

  Variance for asset Y = ơ  = 297.6 

 

  Covariance (COV X,Y) = - 54 
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  Variance for asset X = ơ  = 10 

 

  

Required: 

 The proportions that an extremely risk - averse individual would place in a portfolio comprising assets X 

and Y to obtain a minimum standard deviation.    (4 marks) 

          (Total: 20 marks) 

 

 

QUESTION TWO 

(a) In the context of behavioural finance, explain Festinger‟s theory of financial cognitive dissonance. 

         (4 marks) 

 

(b) Madara Ltd. is considering investing in one of two mutually exclusive projects. The relevant cash flows of 

each of the projects are as shown in the table below. The firm‟s cost capital is 15%. Cash flows accrue at 

the end of the year. 

     Project X  Project Y 

     (Sh “000”)  (Sh.“000”) 

 Initial investment  38,500   37,000 

 Cash flows 

 Year: 1   25,000   30,000 

  2   -11,000   8,000 

  3   20,000   -4,000 

  4   15,000   22,000 

  5   6,000   -10,000 

  6   5,000   15,000 

 

 Required: 

 Calculate for each project: 

 (i) Discounted pay back period.      (6 marks) 

 

 (ii) Modified internal rate of return (MIRR).     (6 marks) 

 

 (iii) Profitability index.       (4 marks) 

          (Total: 20 marks) 

 

QUESTION THREE 

 (a) The National Treasury (or equivalent institution in your country), is required to manage the national 

government‟s public finances in accordance with the Constitution and the principles of fiscal 

responsibility. 

 

 Required: 

 Discuss any two principles of fiscal responsibility.    (4 marks) 

 

(b) Ethical behavior is necessary for achieving a firm‟s goal of owners‟ wealth maximization. 

Page 9

Get answers and Solution to these questions at                www.buy.kasnebnotes.co.ke



    

 

 Required: 

 Comment on the above statement.      (2 marks) 

 

 

(c) The Focus Fund is a mutual fund that holds long-term positions in a small number of non-divided paying 

stocks. Their holdings at the end of two recent years are as follows: 

 

  Year 2012     year 2013 

   Number of Price  Number of   Price 

 Stock  share  (Sh.)  shares   (Sh.) 

 A  100,000  45.25  100,000   48.75 

 B  225,000  25.38  225,000   24.75 

 C  375,000  14.50  375,000   12.38 

 D  115,000  87.13  115,000   98.50 

 E  154,000  56.50  154,000   62.50 

 F  175,000  63.00  175,000   77.00 

 G  212,000  32.00  212,000   38.63 

 H  275,000  15.25  275,000   8.75 

 I  450,000  9.63  450,000   27.45 

 J  90,000  71.25  90,000   75.38 

 K  87,000  42.13  87,000   49.63 

 L  137,000  19.88  0   27.88 

 M  0  17.75  150,000   19.75 

 

     Sh.     Sh. 

 Cash    3,542,000    2,873,000 

 Expenses   730,000     830,000 

 

 At the end of each year, the Focus Fund had 5,430,000 shares outstanding. 

 

 Required: 

 (i) The net asset value (NAV) for a share of Focus Fund at the end of year 2012 (include the  cash 

position in the total portfolio value).       (4 marks) 

 

(ii) Net asset value (NAV) for the year 2013 and the growth rate in the fund share value on a 

percentage basis assuming that Focus Fund sold its position in stock L and purchased its  position 

in stock M immediately after calculating its year 2012 NAV (both transactions  were done at 

year 2012 prices).        (4 marks) 

 

 (iii) The number of fund shares of the Focus Fund that the manager could redeem at the end  of year 

2013 without having to liquidate her stock positions (that is, using only the cash  account).  

           (2 marks) 

 

(d) Describe how managers of firms experiencing financial distress might jeopardize the investments of 

bondholders with the “games” of asset substitution and underinvestment.   (4 marks) 

           (Total: 20 marks) 
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QUESTION FOUR 

(a) Differentiate between “futures contracts” and “forward contracts”.  (4 marks) 

 

(b) Evaluate the wisdom of hedging interest rate risk using an interest rate collar instead of an option.  

          (4 marks) 

 

(c) Explain how “basis risk” arises.       (4 marks) 

 

(d) A stock currently sells for Sh.36. in the next six months, the stock price will either increase to Sh.42 or 

decrease to Sh.31. the risk-free rate is 4% per year.  

  

 Required: 

 Calculate the current market price of a call option on the above stock if its term to expiration is six months 

and its strike price is Sh.35.       (8 marks) 

          (Total: 20 marks) 

 

QUESTION FIVE 

(a) Explain the following terms: 

 

 (i) locational arbitrage.       (2 marks) 

  

 (ii) Triangular arbitrage.       (2 marks) 

 

(b) The following information is provided about the current spot exchange rate between the United States 

(US) dollar ($) and the British pound (£), inflation rates in Britain and the United States, and the real rate 

of interest: 

  Current spot rate = $1.4500/£ 

  U.S. inflation rate = 1.5% per year 

  British inflation rate = 2.0% per year 

  Real rate of interest = 2.5% 
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Required: 

 Using the parity conditions of international finance: 

 

 (i) Compute the expected spot rate in one year‟s time.   (2 marks) 

 

 (ii) Assuming that you could borrow $1,000,000 or £689,700 at the risk-free interest rate, 

 demonstrate how you can make an arbitrage profit if you were offered the chance to sell  or buy 

British pounds (£) forward (for delivery one year from now) at the current spot  rate of $1.4500/£ 

          (6 marks) 

 

(c) Explain four reasons why mergers and acquisions fail.    (8 marks) 

          (Total: 20 marks) 

 

 

DECEMBER 2013 
 

Answer All questions. Marks allocated to each question are shown at the end of the question. Show All your workings. 
 

 

QUESTION ONE 

X is a government-owned business engaged  in the manufacture and  distribution of chemical products for which 

there is an increased demand. Heavy capital expenditure is necessary each year. 
 

The financial year of the business runs to 31 March. As at 31 March, the net assets of the business (after deducting 

a small amount of external loans) were represented entirely by reserves. On 1 April 2013, the business was 

reconstituted as a commercial company, X Ltd., with an authorized capital of 400 million ordinary shares of Sh.25 

each. Four million ordinary shares were issued for cash at par to the government. 
 

It was decided that further ordinary shares (number not yet agreed) should be issued to the government, credited as 

fully paid by capitalization of part of the reserves, on 1 December 2013 and that 95% of the total number of 

ordinary shares then in issue should be offered to the public at a price of Sh.140 per share 
 

The prospectus being prepared in connection with this offer contains the following information about profit after 

tax: 
 

Actual-year to 31 March 2013   Sh.5,250.8 million 

Forecast-year to 31 March 2014   Sh.4,208.7 million 
 

There is a disagreement, however, about the amount of ordinary share dividend to be forecast for the year to March 

2014 and the number of ordinary shares to be issued. 
 

The board of the company proposes a dividend of Sh.1,932 million which it considers would make possible a 

public issue of 285 million ordinary shares. The advisors to the government, however, suggest that a dividend of 

Sh.2,125.6 million be forecast and claim that this would enable a proportionately large number of shares to be 

issued. 
 

Required: 

(a) Evaluate the significant aspects of each of the two proposals above.   (14 marks) 

(Hint: As part of your analysis, calculate each proposals‟s earnings per share, price earning ratio and 

dividend yield). 

 
 

(b) Explain any three pieces of additional information that would be required by prospective shareholders. 

           (6 marks) 

           (Total: 20 marks) 
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QUESTION TWO 

(a) R Ltd is considering a project with the following cash flows: 
  

year Cost of plant Running costs Savings 

 Sh.“000” Sh.“000” Sh.“000” 

0 10,000   

1  4,000 12,000 

2  5,000 14,000 
 

 R Ltd‟s cost of capital is 9% 

 

 Required: 

(i) Determine the sensitivity of the project to changes in the levels of cost of plant, running costs and 

savings (considering each factor at a time) and assuming each factor is varied adversely by 10%. 

          (8 marks) 

 

(ii) Comment on the factor which is most sensitive to adverse variations.  (2 marks) 

 

(b) Tajiri Ltd. is considering investment in three risky projects namely; projects A, B and C. the following 

information relates to the three projects: 

  

 Project A 

 This project will require an initial investment of Sh.50,000,000. The estimated annual net cash inflows 

over the next five years under the three states of nature are as follows: 

 

 State of nature  Probability  Amount 

       Sh.“000” 

 Most pessimistic 0.25   13,500 

 Most likely  0.50   18,000 

 Most optimistic  0.25   20,000 

 

 Concerns have been raised about the possibility that this project will infringe on a competitor‟s patent. If 

this was the case and the competitor successfully pursued a claim for damages, the competitor may have to 

be paid as much as Sh.100,000,000 in the third year. Lawyers estimate that there is only a 0.1 probability 

that this will happen. 

 

 Project B 

 This project will require an initial outlay of Sh.50,000,000 spread in equal instalments over the next three 

years to finance a research project. If this project is successful and there is a probability of 0.5 of this 

happening, it will lead to issuance of a patent right with an estimated value at the end of the three years of 

Sh.200,000,000. If not successful, the whole of the expenditure would have to be written off. 
 

 Project C 

 This project will have an initial cost of Sh.20,000,000 and is expected to yield annual cash flows of 

Sh.8,000,000 in each of its first two years. Thereafter, the outcome is so uncertain that no estimate can be 

given.  

 The company‟s cost of capital is 14% per annum. 

 

 Required: 

 Advise Tajiri Ltd. on whether they should undertake the projects above.   (10 marks) 

           (Total: 20 marks) 
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QUESTION THREE 

(a) Evaluate any four assumptions on which the capital asset pricing model (CAPM) is based clearly 

indicating how far they hold true in practice.      (8 marks) 

 

(b) H Ltd. has a portfolio of capital projects which yield an average expected rate of return of 15 per cent per 

annum. This return is subject to risk and this is estimated as a standard deviation of the probabilities of 

expected returns of 2.5 per cent. The risk free rate of interest is 6 per cent per annum. 

 

 Three projects have come up for consideration by the board of directors and these are designated M, N and 

O. details of the estimates made for them appear below: 

  

       Project 

          M N O 

 Expected return        10% 8% 6% 

 Risk (standard deviation of the probability distribution)   1% 1.2% 2.4% 

 Coefficient of correlation of project returns with portfolio returns  0.58 0.89 -0.1 
  

 Required: 

 Using the capital asset pricing model (CAPM), advise H Ltd. on the project (s) to accept or reject.  

           (8 marks) 
  

(c) Evaluate any two distinct activities that are involved in portfolio monitoring and rebalancing.  

           (4 marks) 

           (Total: 20 marks) 

 

QUESTION FOUR 

(a) In the context of the Public Finance Management Act 2012 (or equivalent legislation in your country), 

describe the conditions under which the national government could refuse to disburse funds to the county 

governments.          (8 marks) 
 

(b) X Ltd. is contemplating the purchase of Y Ltd. X Ltd. has 3,000,000 shares outstanding each having a 

market price of Sh.30 per share. Y Ltd. has 2,000,000 shares outstanding each having a market value of 

Sh.20 per share. The earnings per share (EPS) for X Ltd. and Y Ltd are Sh.4.00 and Sh.2.25 respectively. 
 

 The managements of both companies are discussing two alternative proposals for exchange of shares as 

indicated below: 
 

 Proposal 1 

 In proportion to the relative earnings per share of the two companies. 
 

 Proposal 2 

 Half of a share of X Ltd for one share of Y Ltd. 
 

 Required: 

 (i) The EPS after the merger under each of the alternatives.    (6 marks) 
 

(ii) An evaluation of the impact of EPS for the shareholders of the two companies under each of the 

alternatives.         (6 marks) 

          (Total: 20 marks) 

 

QUESTION FIVE 

(a) Evaluate the continued justification in the operations of the Eurocurrency market.  (4 marks) 
 

(b) Explain the salient differences between Argenti‟s model and Taffler‟s model in their utility in predicting 

corporate failure.         (6 marks) 
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(c) A US Company needs to pay its German supplier  € 1.2 million in 90 days‟ time. The current spot rate is 

$1.2582: €1 and the 90 day forward rate is $1.2636:€1. A call option on the Euro expiring in 90 days has 

an exercise price of $1.26 and a premium of $0.0098. the option is only exercisable at the end of the 

period. The forecast of the future spot rate is $1.25. 
  

 Required: 

 Evaluate how much the US Company will pay its German supplier under each of the following 

alternatives: 

 (i) No hedging takes place.        (2 marks) 

 (ii) Arranging a forward contract hedge.      (2 marks) 

 (iii) Arranging an option hedge.       (3 marks) 

 

(d) With reference to the Guidelines on Corporate Governance Practices by Public Listed Companies in your 

country, highlight three key corporate governance requirements with respect to fixing of directors‟ 

remuneration.          (3 marks) 

           (Total: 20 marks) 

…………………………………………………….. 

 

 

JUNE 2013 
QUESTION ONE 
(a) Differentiate between the following terms as used in hedge fund investments: 

  

 (i) “Equity market neutral hedge fund” and “convertible arbitrage hedge fund”.  (2 marks) 

 

 (ii) “Fixed income arbitrage hedge fund” and “global hedge fund”.          (2 marks) 

 

(b) A financial analyst intends to estimate the sustainable growth rate for XYZ Ltd. the following data was 

extracted from the financial statements of XYZ Ltd. for the year ended 31 December 2012: 

           Sh. 

 Net income   17,138,000 

 Sales    204,892,000 

 Total assets   132,628,000 

 Shareholder‟s equity  68,935,000 

 Earnings per share        7.80 

 Dividend per share        2.01 

 

 Required: 

 The sustainable growth rate for XYZ Ltd.      (5 marks) 

 

(c) Ribe Ltd. is planning to divest itself of unrelated divisions which have in the past been making relatively 

lower returns on assets. As a result of this process, the return on equity is expected to increase from 10% to 

15%. The debt equity ratio is 0.3 while the retention rate is 50%. The company‟s tax rate is 30%. 

  

 Required: 

 Assess the effect of the planned divesture on the earnings growth.   (5 marks) 

 

(d) Researchers at Annex Electrical Ltd have invented a new television model. The company is ready for pilot 

production and test marketing within six months at a cost of Sh.40 million. It is expected that there is a 

70% chance of pilot production and test marketing being successful. In case of success, Annex Electrical 

Ltd. can build a plant at a cost of Sh.300 million. 
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 The plant will generate an annual cash flow of Sh.60 million for 20 years if demand is high or an annual 

cash flow of Sh.40 million if demand is low. A high demand has a probability of 0.6. The company‟s 

required rate of return is 12%. 

  

Required: 

 Advise the management of Annex Electrical Ltd. on the best course of action.  (6 marks) 

           (Total: 20 marks) 

QUESTION TWO 

(a) The following information relates to call and put options on a stock: 

 

 Call price, Co = Sh.4.50 

 Put price, Po = Sh.6.80 

 Exercise price, Xo = Sh.70 

 Current stock price, So = Sh.67.32 

 Days to option expiration = 139 days 

 Risk free rate, rf = 5% 

 

 Required: 

 Using the put-call parity, determine the prices of the following: 

 

 (i) Synthetic call option.        (2 marks) 

  

 (ii) Synthetic put option.        (2 marks) 

 

 (iii) Synthetic bond.         (2 marks) 

 

 (iv) Synthetic underlying stock.       (2 marks) 

 

(b) Identify any mispricing for each of the synthetic instruments in (a) (i) – (iv) above    (2 marks) 

 

(c) Kalama Chivuva, the managing Director of Dede Ltd., has just ended a meeting with an investment analyst 

who suggested that the company‟s shares are overvalued by 10%. The data used by the investment analyst 

is shown below: 

 

 Year  Total dividend  Number of shares Total earnings 

   Sh. “000”  “000”   Sh. “000” 

 2009  5,680   28,560   18,260 

 2010  6,134   28,600   21,320 

 2011  8,108   35,000   26,710 

 2012  10,007   40,000   28,620 

 

 Dede Ltd‟s current market share price is Sh.6.45 and the cost of equity is 12.5%. 

 

 Required: 

 (i) The intrinsic value of Dede Ltd.‟s share.      (3 marks) 

 

 (ii) Advise the management of Dede Ltd. on whether the company‟s shares are overvalued.  

           (1 mark) 

 

(d) The current earnings per share (EPS) of Baraka Ltd. is Sh.2.00. The company has an asset beta of 0.981 

and a retention rate of 0.5. The risk free rate is 5% and the equity market risk premium is 6%. The 

management of Baraka Ltd. intends to undertake a reconstruction which will result in a debt-equity ratio 

change from 0.12 to 0.30. 
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 Required: 

 Show the impact of the increase in the debt-equity ratio on the share price.  (6 marks) 

           (Total: 20 marks) 

 

QUESTION THREE 

(a) Explain the following in relation to the international capital market. 
 

 (i) Three primary drivers of the international capital market.    (3 marks) 
 

 (ii) Three motives of investing in the international capital market.   (3 marks) 

 

(b) Blades Ltd. is considering diversifying its operations away from its main areas of business (food 

manufacturing) into the plastic business. The company wishes to evaluate an investment project which 

involves acquisition of a moulding machine that costs Sh.450,000,000. The project is expected to produce 

net annual operating cash flows of Sh.220,000,000 for each of the three years of its useful life. Its salvage 

is zero. 
 

 The assets of the project will support debt finance of 40% of its initial cost (including issue cost). The loan 

is to be repaid in three equal annual installments. The balance of finance will be provided by placing of 

new equity. Issue costs will be 5% for the equity and 2% for the loan. Debt issue costs are allowable for 

tax.  

 The plastic industry has an average equity beta of 1.368 and an average debt to equity ratio of 1:5 at 

market values. Blades Ltd.‟s current equity beta is 1.8 and 20% of its long term capital is represented by 

debt which is generally regarded to be risk-free. 
 

 The risk-free rate is 10% per annum and the expected return on an average market portfolio is 15%. 

Corporate tax is at 30%. The machine will attract a 70% initial capital allowance and the balance will be 

written off evenly over the remainder of the asset‟s life and will be allowable against tax. The firm is 

certain that it will earn sufficient profits against which to offset these allowances. 
 

 Required: 

 Using adjusted net present value, advise whether or not the project is worthwhile.  (10 marks) 
 

(c) David Majimbo is evaluating a project with a one year life and expected cash flow of Sh.5,000,000 

receivable at year end. Shareholders require a return of 12%. The risk free rate is 6%. 
 

 Required: 

 Certainty equivalent coefficient. Interpret your result.     (4 marks) 

           (Total: 20 marks) 

 

QUESTION FOUR 

(a) Betty Muye has invested 75% of her funds in shares of company X and 25% in shares of company Y. the 

following probability distribution relates to the shares of the two companies: 

  

 State of economy probability  return on  return on 

      Company X shares (%)    Company Y shares (%) 

 Boom   0.2   24   5 

 Steady growth  0.6   12   30 

 Slump   0.2   0   -5 

  

Required: 

 (i) Expected returns on the shares of companies X and Y.    (2 marks) 
 

 (ii) Standard deviation of returns on shares of companies X and Y.   (2 marks) 
 

 (iii) Coefficient of correlation between the returns on shares of companies X and Y. (2 marks) 
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 (iv) Expected portfolio return.       (1 mark) 
  

 (v) Portfolio risk.         (3 marks) 

 

(b) Superstar Ltd. wishes to estimate its equity beta. The financial analyst of the company has recorded the 

following information for the year 2012: 

 

 Month  return on market portfolio (%) return on company equity (%) 

 January   2     3 

 February  -1     -2 

 March   3     4 

 April   0     1 

 May   2     2.5 

 

 The following data has been calculated from the above financial information: 

 

 Variance on return on market portfolio (σ
2
m ) = 2.16 

 Variance on the return of company equity of superstar Ltd. (σ
2
s ) = 4.36 

 Correlation coefficient between market returns and superstar Ltd.‟s equity return (ρm,s ) = 0.96 

 

 Required: 

 (i) Equity beta of the company.       (3 marks) 

 

(ii) Using the capital asset pricing model (CAPM), determine the required rate of return on Superstar 

Ltd.‟s share. Assume the risk free rate is 10% per annum and the return on market portfolio for the 

same period is 14% 

 

(c) Explain the implications of the following in relation to ethical conduct of financial managers: 

 

 (i) Balancing act.         (2 marks) 

 

 (ii) Whistle blowers‟ rights.        (2 marks) 

           (Total: 20 marks) 

QUESTION FIVE 

(a) (i) Explain the term “value gaps” as used in mergers.    (2 marks) 

 

 (ii) Discuss four factors that could give rise to value gaps in mergers.   (8 marks) 

 

(b) In relation to relation to financial distress, contrast between “stock based insolvency” and “flow based 

insolvency”.          (4 marks) 

 

(c) Texas Ltd. is considering making a bid for the entire equity capital of Vexas Ltd. Vexas Ltd. has a price-

earnings (P/E) ratio of 9 and total earnings of Sh.390 million. 

 

 Texas Ltd. has a price-earnings (P/E) ratio of 13 and total earnings of Sh.693 million. It is expected that 

Sh.125 million of synergistic savings will be made as a consequence of the takeover. The price-earning 

ratio of the combined company is expected to be 12. 

 

 Required: 

 (i) Minimum value acceptable to Vexas Ltd. shareholders.    (2 marks) 

 

 (ii) The maximum amount Texas Ltd. should consider paying.   (4 marks) 

           (Total: 20 marks) 

……………………………………………………. 
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December 2012 
 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL your workings. 

 

QUESTION ONE  

(a) Examine four statutory protections available to shareholders in mitigating against negative 

consequences of the agency problems arising between them and managers.  (4 marks) 

 

(b) Ematex Ltd. has a budget of Sh.240 million for investment in various projects. The finance 

manager has presented the following proposals for immediate investment. The first cash return is 

expected in 12 months and at annual intervals thereafter. 

 
 Project 2012 2013 2014 2015 2016 2017 2018 Net present Internal 

     Sh.‟million‟  Sh.‟million‟ Sh.‟million‟ Sh.‟million‟  Sh.‟million‟   Sh.‟million‟   Sh.‟million‟ Value (NPV) rate of 

         (Sh.‟million) return 

          (IRR) 

              % 

 A (124) 56 80 24 - - - 11 16 

 B (128) 16 24 40 42 84 (6) 13.8 13 

 C (48) 24 24 12 2 - - 4 15 

 D (200) 60 100 50 58 - - 14.4 13 

 E (24) 5 11 15 4.2 - - 3.8 17 

 D (80) 49 50 - - - - 5.8 15 

 

 There is no option to delay any of the projects. All projects except project A can be scaled down 

but cannot be scaled up. The company has a current cost of finance of 10% but it would take one 

year to establish further funding at that rate. Further funding for short periods could be arranged 

at a higher interest rate. 

 

 Required: 

 (i) The projects that should be undertaken in the order of their priority. (6 marks) 

(ii) The net present value (NPV) and the internal rate of return (IRR) for the projects 

undertaken.         (4 marks) 

(iii) Estimate and advise on the maximum interest rate that the company should pay to finance 

all the remaining projects available.      (6 marks) 

          (Total: 20 marks) 

 

QUESTION TWO 

(a) Briefly explain four strategies which might be open to a company intending to avoid being 

acquired by another company.       (4 marks) 

 

(b) Distinguish between the following terms as used in corporate reorganization and capital 

reconstruction: 

 (i) Divestment and unbundling.       (2 marks) 

 (ii) Management buy-out and management buy-in.    (2 marks) 

 

(c) Best food Ltd. is a food processing firm which is 100% equity financed. The company‟s board of 

directors are considering diversifying their operations by entering into the customer electronics 

industry. 
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 Additional information: 

 1. The current equity beta is 1.2 and 1.6 for best food Ltd. and electronic firms respectively. 

 2. The gearing in the electronic industry averages 30% debt and 70% equity. 

 3. Return on market is 25% 

 4. The risk free rate is 10%. 
 

 Assume a corporation tax rate of 30%. 
 

 Required: 

 Determine the suitable discount rate for the new investment if the directors were to finance the 

new project as follows: 

  

 (i) 30% debt and 70% equity.      (4 marks) 

 (ii) Entirely by equity.       (4 marks) 

 (iii) 40% debt and 60% equity.      (4 marks) 

          (Total: 20 marks) 

 

QUESTION THREE 

(a) Ethical responsibility arises not as a result of legal requirement but as a moral imperative for 

companies to operate in an ethical and fair manner. 
 

 Discuss the main elements through which ethical responsibility of a company is discharged. 

           (8 marks) 

(b) Galaxy Limited is an all equity financed company with a cost of capital of 18.5%. The company 

is considering the following capital investment projects: 

 

 Project  Initial outlay  Expected cash flows  Beta 

      In one year 

   Sh. “000”  Sh. “000” 

   A  1,000   1,095    0.3 

   B  1,000   1,130    0.5 

   C  1,500   1,780    1.0 

   D  2,000   2,385    1.5 

   E  2,000   2,400    2.0 

 

 The risk free rate is 8% and the expected return on an average market portfolio is 15%. 

 

 Required: 

 (i) Using the Capital Asset Pricing Model (CAPM), show the projects that are acceptable. 

          (6 marks) 

 (ii) Galaxy Limited‟s beta factor.      (2 marks) 

(iii) Show the projects that would be accepted and rejected if they were discounted at the 

firm‟s cost of capital. Highlight those projects where an incorrect decision would be made.

          (4 marks) 

          (Total: 20 marks) 

QUESTION FOUR 

(a) A recent study of the independence of the Auditor General found that notwithstanding formal 

regulation designed to assure independence of the auditor, there remains many avenues by which 

the executive could influence an Auditor General: 
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 Required: 

 Evaluate six major legislative factors affecting the auditor‟s independence that have been 

identified within the statutory framework in your country.    (6 marks) 

 

(b) A United States firm has concluded a deal to sell heavy earth moving equipment to a British 

Company for Pound Sterling (£) 1,000,000. 

 

 The chief financial officer of the United States firm has collected the following financial and 

market data for the analysis of her currency exposure: 

 

 Spot exchange rate:  $1.7640/£ 

 Three month forward rate: $1.7540/£ 

 United States firm‟s cost of capital:    12% 

 United Kingdom three month borrowing interest rate: 10% per annum 

 United Kingdom three month investment interest rate: 8% per annum 

 United States three month borrowing interest rate:  8% per annum 

 United States three month investment interest rate:  6% per annum 

 

 The united States Company‟s foreign exchange advisory service forecasts that the spot rate in 3 

months will be $1.76/£ 

 

 Required: 

 Use the following techniques to hedge the United States firm‟s against foreign exchange 

exposure: 

 

 (i) Forward market.        (4 marks) 

 (ii) Money market.        (4 marks) 

 

(c) Safariland Ltd. is a quoted company in the securities exchange dealing in food processing. The 

company has followed a policy of paying out a steadily increasing dividend per share (DPS) as 

shown below: 

 

 Year Earnings per share Dividend per share Dividend cover 

   (EPS)   (DPS) 

   Sh.   Sh. 

 2008  11.80   5.00   2.4 

 2009  12.50   5.50   2.3 

 2010  14.60   6.00   2.4 

 2011  13.50   6.50   2.1 

 2012  16.00   7.30   2.2 

 

 Additional information: 

1. Safariland Ltd. has just paid the year 2012 dividends hence the shares are quoted ex-

dividend. 

2. In the year 2013, additional financing for undertaking new projects will be provided from 

internal funds which will result in a lower dividend per share of Sh.5. 

3. The new investment projects will increase the company‟s growth rate to 14 per cent: 

however, some managers feel that the new growth rate is unlikely to exceed 12 per cent. 

4. The shareholders of Safariland Ltd. seek an overall return of 16 per cent. 
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Required: 

(i) Using the dividend growth model, determine the market price per share for Safariland., 

prior to the change in policy.       (2 marks) 

 

(ii) Assess the likely impact of the proposed policy change on Safariland Ltd.‟s share price. 

          (2 marks) 

 

(iii) Determine the break-even growth rate in dividend per share (DPS).  (2 marks) 

          (Total: 20 marks) 

 

QUESTION FIVE 

(a) Explain the following terms in relation to funds management: 

  

 (i) Open-end funds.        (2 marks) 

 (ii) Closed-end funds.        (2 marks) 

 (iii) Balanced fund.        (2 marks) 

 

(b) Suppose that you work for Santina Fund Management (SFM) and you are responsible for the 

pension fund management section. Currently, the pension fund available for investment stands at 

Sh.15,000,000. The one year cap has a cap rate of 8%. The frequency of settlement is quarterly 

and the reference rate is the 3-month Treasury bill rate. For the next four quarters, the 3-month 

Treasury bill rates are as follows: 

 

 Quarter      1   2   3   4 

 3-month Treasury bill rate 8.7% 8.0% 7.8% 8.2% 

 

 Required: 

 Using the above information, discuss the feasibility of a payoff supporting your argument with 

relevant calculations.         (6 marks) 

 

(c) (i) Explain the term “market segmentation” in the context of capital markets. (2 marks) 

 (ii) Describe six main causes of capital markets segmentation.   (6 markets) 

           (Total: 20 marks) 

……………………………………………………….. 

 

May 2012 
 

Answer All questions. Marks allocated to each question are shown at the end of the question. Show All your 

workings. 
 

QUESTION ONE 

(a) Classical economists long advanced for “profit maximization” as the financial rational goal of the firm but 

modern financial theorists favour “shareholders” wealth maximization”. 
 

 Required: 

(i) Justify the view of modern finance theory on the financial goal of the firm by giving three reasons.

          (3 marks) 

 

(ii) Citing three arguments, criticize “shareholder‟s wealth maximization” as the financial goal of the 

firm.          (3 marks) 
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(b) Discuss three parties involved in the organization and operations of a pension fund. (6 marks) 

 

(c) Kikopy Limited, a Kenyan company, has a substantial proportion of its trade with Ugandan and Tanzanian 

companies. It has recently invoiced a Tanzanian company the sum of Tsh.5,000,000 receivable in one 

year‟s time. The finance director of Kikopy Limited is considering two methods of hedging the exchange 

risk. 

 

 Method 1 

 

 Use of money market instruments 

 

 Method 2 

 

 Use of forward exchange contract where the spot exchange rate and the 12 months forward exchange rates 

respectively are: 

 

 Spot  Ksh.1 = Tsh.1.4455 

 Forward Ksh.1 = Tsh.1.4165 

 

 The annual interest rates are: 

 

 Tanzania 3.5% 

 Kenya  5.75% 

 

Required: 

 (i) Net proceeds in Kenya shillings under both methods.    (6 marks) 
 

(ii) Based on your answer in (c) (i) above, advice the management of Kikopy Limited on the more 

advantageous method of hedging the exchange risk.    (2 marks) 

          (Total: 20 marks) 

QUESTION TWO 

(a) Outline four aims of regulating financial markets in your country.   (4 marks) 

 

(b) As a newly appointed finance manager of Tena Ltd., you are required to choose between the following 

mutually exclusive projects:  

 

   Net cash flows in millions of shillings 

 Year  project A  project B 

 0  (250)   (1,000) 

 1  200   300 

 2  500   400 

 3     600 

 4     500 

 The company‟s cost of capital for projects under similar risk levels is 12%. 

 

 Required: 

(i) The net present value (NPV) of each project using the constant scale finite period replication 

criteria.          (3 marks) 

 

(ii) Annual equivalent (AEV) of each project.     (3 marks) 

 

(iii) Make a decision on which project to undertake.     (2 marks) 
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(c) With reference to the derivatives markets, evaluate four differences between “futures contracts” and 

“forward contracts”.        (8 marks) 

          (Total: 20 marks) 

 

QUESTION THREE 

(a) Leila Ltd. is a hot air balloon manufacturer whose equity to debt ratio is 5:2. the corporate debt which is 

assumed to be risk free, has a gross redemption yield of 11%. The beta value of the company‟s equity is 

1.1. The average return on the stock market is 16% and the tax rate is 30%. 

 

 The company is considering to undertake a boat manufacturing project. Kaks Limited is a boat 

manufacturing company. It has an equity beta of 1.59 and an equity to debt ratio of 2:1. Leila Ltd. will 

finance the project to maintain its existing capital structure. 

 

 Required: 

 Compute the cost of capital to be applied in the project.    (10 marks) 

 

(b) The financial manager of Top Ltd. expects earnings before interest and tax (EBIT) of Sh.5,000,000 in the 

current financial year. The company pays interest of 10% per annum on a long-term loan of 

Sh.20,000,000. the company has 1,000,000 ordinary shares and the corporate tax rate is 30%. The finance 

manager is currently examining two scenarios: 

 

  

Scenario 1: A case where earnings before interest and tax (EBIT) is 25% less than expected. 

 

Scenario 11: A case where earnings before interest and tax (EBIT) is 25% higher than expected. 

 

Required: 

(i) Earnings per share (EPS) under scenario 1 and scenario 11 and when there is no change in the 

expected earnings before interest and tax (EBIT).   (6 marks) 

 

(ii) Degree of financial gearing for both scenario 1 and scenario 11.  (4 marks) 

         (Total: 20 marks) 

 

QUESTION FOUR 

(a) Describe by giving three reasons, how the financial management of an organization in the public sector 

differs from that of an organization in the private sector.    (6 marks) 

 

(b) Mavuno Limited expects to record earnings per share (EPS) of Sh.300 during the year 2012, while the 

target dividend payout ratio is 0.6. The adjustment rate is 0.7. The dividend per share for the year 2011 

was Sh.1.20. 

 

 Using the Lintner dividend model, determine the dividend per share (DPS) of Mavuno Limited for the year 

2012.          (4 marks) 

 

(c) Mtungi Limited is planning to acquire Kibuyu Limited. The following information is available with 

respect to the two companies: 

 

     Mtungi Limited Kibuyu Limited 

 Total current earnings  Sh.50 million  Sh.20 million 

 Number of outstanding shares 20 million  10 million 

 Market price per share (MPS) Sh.30   Sh.20 
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Required: 

(i) The maximum exchange ratio acceptable to the shareholders of Mtungi Limited if the price 

earnings ratio of the combined entity is 12.    (3 marks) 

 

(ii) The maximum exchange ratio from the point of view of the shareholders of Kibuyu Limited. 

         (3 marks) 

 

(d) Analyse four benefits that accrue from international trade and cross-border investments in your country. 

          (4 marks) 

          (Total: 20 marks) 

 

QUESTION FIVE 

(a) Highlight six social economic benefits of mobile money transfer.   (6 marks) 

 

(b) Outline three objectives of reorganizing a firm that is facing financial distress. (3 marks) 

 

(c) A financial analyst expects two stocks, A and B to generate a return based on the market performance. The 

following table shows the analyst‟s expected returns: 

 

 Market returns (%)  stock A (%) stock B (%) 

  6       2      8 

  20      30     16 

 

 Required: 

 (i) The betas of the two stocks.      (2 marks) 

 

 (ii) The expected return on each stock if the market return is equally likely to be 6% or 20%.  

          (3 marks) 

 

(iii) The security market line if the risk free rate is 7% and the market return is equally likely to be 6% 

or 20 %.        (3 marks) 

 

(iv) The alphas of the two stocks.      (3 marks) 

         (Total: 20 marks) 

………………………………………….. 

 

December 2011 
 

Answer All questions. Marks allocated to each question are shown at the end of the question. Show All your 

workings. 

 

QUESTION ONE 

(a)  Explain three types of indirect financial distress costs.     (6 marks) 
 

(b) Moto Ltd. is considering whether to buy a certain machine costing Sh.100, 000,000 or to lease the 

machine. It is estimated that the machine will reduce variable cost by Sh.31,000,000 per annum. The 

machine will have an eight year life with no salvage value. The machine will be depreciated on straight 

line basis. 
 

The company‟s optimal capital structure is 50% debt to total assets and it‟s before tax cost of debt and cost 

of equity are 15% and 25 % respectively. The corporate tax rate is 30%. If the company were to lease the 

machine, the fees would be Sh.21,400,000 per annum paid at the end of the year. Assume that the lease is a 

finance lease. 
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 Required: 

(i) The net present value (NPV) if the firm decides to buy the machine.   (6 marks) 

 

(ii) The net present value (NPV) if the firm decided to lease the machine.   (6 marks) 

 

(iii) Advice the company on whether to buy or lease the machine.    ( 2 marks)  

          (Total: 20 marks) 

 

QUESTION TWO 

(a)  Masumbuko Limited, a Kenyan company, buys industrial machinery from a Malaysian   company at a 

price of 10 million Malaysian Ringgit (MYR). The machinery will be delivered and paid for in six month 

time.  Masumbuko Limited seeks to establish its cost in Kenya Shilling (Kshs). The company decides to 

use the forward market to accomplish its objective. The following information is obtained from the bank: 

 

    Kenya shilling (Kshs.)  Malaysian Ringgit (MYR) 

Interest rate per annum  8%          9% 

Spot exchange rates  2.041Ksh /MYR  MYR 0.49/Ksh 

 

The bank will charge a commission of 0.25% on any transaction.  

 

Required: 

(i) Advise the company whether or not to adopt a long or short forward strategy.   

          (2marks) 

 

(ii) Compute the equilibrium forward rate for the Kenya shilling (Ksh) under an indirect quote. 

          (4marks) 

 

(iii) Determine the effect of the bank commission on the Malasyian Ringgit (MYR) value of the Kenya 

shilling.          (2 marks) 

 

(iv) Compute the price in Kenya shilling (Kshs) that the company can establish by using the forward 

market.          (2marks) 

 

(b)  Ann Kanono can earn a return of 15% by investing directly in the stock exchange. She is considering a 

recently announced equity mutual fund scheme where the entry load is 1% and the recurring annual 

expenses are expected to be 2%.  

 

Required: 

 

The return the mutual fund scheme should earn in order to provide a return of 15% to Ann Kanono. 

           (4marks) 

 

(c)  Describe three forms of public enterprise restructuring in your country   (6 marks) 

          (Total: 20 marks) 

 

QUESTION THREE: 

(a) In the recent past, mergers and acquisition have failed despite their popularity in the past 

 

 Evaluate four reasons behind failed mergers and acquisitions    (8 marks) 
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(b)  Double Limited is contemplating acquiring Tatu Limited .The following information relates to Tatu 

limited for the next five years. 

 

 Year1  year 2   year 3  year 4  year 5 

                                       Sh“million” Sh“million”Sh“million”Sh“million”Sh.“million” 

Net sales 10, 050 1,260 1,510 1,740 1,910 

Cost of sales 735 882 1,057 1,218 1,337 

Selling and admin expenses 100 120 130 150 160 

Interest ex 40 50 70 90 110 

 

Addition information: 

1.  After the fifth year, the cash flows available to Double limited from Tatu limited are expected to 

grow by 10% per annum in perpetuity. 

2.  Tatu Limited will retain Sh 40,000,000 for internal expansion every year. 

3.  The cost of capital can be assumed to be 18%. 

4.  The applicable corporate tax rate is 30%. 

 

 Required: 

(i) The estimated annual cash flows of Tatu limited     (8 marks) 

 

(ii) The maximum amount that Double limited would be willing to pay to acquire Tatu limited. 

          (4 marks) 

          (Total: 20 marks) 

QUESTION FOUR: 

(a)  Describe four functions of investment banks.      (4 marks) 

 

(b) The board of directors of Petkam Holdings limited is considering a review of the company‟s divided 

policy. 

 

 The following information is provided: 

 1.  The company paid Sh.2.5 billion as divided in the previous financial year. 

 2.  The profit after tax for the last financial year was Sh.5.7 billion. 

 3.  The company has not issued any preference shares. 

4.  The company has been having a constant growth rate of 12% per annum for the past ten years 

 5.  The expected profit after tax for the current financial year is Sh.10.5 billion. 

6.  The company anticipates investment opportunities worth Sh.2.1 billion in the current financial 

year. 

 7.  The capital structure of the company consists of 70% equity and 30% debts. 

 

Required: 

The optimal total dividends for the current financial year if the company wishes to adopt the following 

independent dividend policies: 

 

 (i) Pure residual policy.        (2 marks) 

 

 (ii) Constant payout ratio policy.       (2 marks) 

 

(iii) Stable predictable divided policy. Assume that the growth rate is equivalent to the earning growth 

rate.           (2 marks) 

 

(c)  Utawala Hypermarket Ltd., a supermarket chain, is considering opening a new branch. The following 

details are relevant to the new branch: 
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  Sh.“Million” 

 Estimated cost    12 

Present value of net receipts  10 

Net present value (NPV)    2 

 

Though the project has a negative net present value (NPV), undertaking the project would provide the firm 

with the option of expanding by opening a second store. 

The option would have the following details: 

 

Timing (t)     5 years 

Estimated cost     Sh.20 million 

Net present value (NPV of net receipts  Sh.15 million 

Volatility of cash flows    28.3% 

Risk-free rate     6% 

 

 Required: 

Using the Black-scholes option pricing model, calculate the value of a call option on the second store and 

advice on whether or not to accept the first investment in the store    (10 marks) 

          (Total: 20 marks) 

 

QUESTION FIVE: 

(a) Your country is in the process of adopting performance contracting in all its public sector enterprises. 

 

Required: 

Explain four objectives which the performance contracting process is expected to achieve.  

           (8 marks) 

 

(b) Describe the following methods of credit enhancement: 

 

(i) Excess spread.         (2 marks) 

 

(ii) Overcollateralisation.        (2 marks) 

 

(iii) Surety bond.         (2 marks) 

 

(c) The following information relates to Unified Holdings Ltd.‟s capital structure, whose cost  of debt varies 

according to its gearing level: 

 

Gearing (%)    Cost of debt before tax 

20     7.5% 

 30     8.1% 

 40     8.8% 

 50     10.5% 

60     11% 

70     13% 

80     16% 

 

Additional information: 

1.  Risk free rate is 8% 

2.  Market return is 16% 

3.  Corporate tax rate is 30% 

4.  The company‟s ungeared beta (asset beta) is 0.95 
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Required: 

Unified holdings Ltd.‟s optimal weighted average cost of capital (WACC).  (6 marks) 

          (Total: 20 marks) 

 

……………………………………………………. 

 

June 2011 
 

Answer All questions. Marks allocated to each question are shown at the end of the question. Show All your 

workings. 
 

QUESTION ONE 

(a) Evaluate the separation theorem in support of the traditional investment theory. (6 marks) 
 

(b) Briefly explain the meaning and importance of the following terms in relation to option pricing: 
 

 (i) Delta. (2 marks) 
 

 (ii) Theta. (2 marks) 
 

 (iii) Vega. (2 marks) 

 

(c) Munyaka Ltd. Has recently introduced a formal scheme of long range planning. Sales in the current year 

reached Sh. 10 million and forecasts for each of the next five years are Sh.10.6 million, Sh.11.4 million 

Sh.12.4 million, Sh.13.6 million and Sh.15 million respectively. The ratio of net profit after tax to sales is 

10% and this is expected to continue throughout the planning period. Total assets less current liabilities 

will remain at 125% of sales. 

 

 It was suggested at a recent board meeting that: 

1. If profits rise, dividends should rise by the same percentage. 

2. An earnings retention rate of 50% should be maintained. 

3. The ratio of long-term borrowing to long-term funds (debt plus equity) is limited (by the market) 

to 30%, which happens also to be the current gearing level of the company. 

 

 Required: 

Prepare a draft long range plan showing the profits, dividends, assets required and funding levels for the 

current year and the next five years. (8 marks) 

  (Total: 20 marks) 

 

QUESTION TWO 

(a) kitunda Ltd. Has estimated the cost of debt and equity for various financing gearing levels as follows: 
 

   Required rate of return 

 Proportion of debt debt Equity 

  Capital % % 

  0.90 9.4 37.0 

  0.80 8.2 36.0 

  0.70 7.4 35.5 

  0.60 6.9 29.1 

  0.50 6.6 25.2 

  0.40 6.4 20.4 

  0.30 6.2 15.6 

  0.20 6.1 13.5 

  0.10 6.0 13.1 

  0.00 - 13.0 
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 Required: 

 (i) The optimal capital structure.  (6 marks) 

 

 (ii) Kitunda Ltd. Wishes to transform from its optimal gearing level to an all-equity financed firm. 

Apply the Modigliani and Miller‟s model with no taxes to determine the equity cost of capital.  

   (2 marks) 
 

(b) Go Down Ltd.., an all-equity financed firm, has the following earnings per share and dividends per share 

for the last five years: 

 

 Year 2010 2009 2008 2007 2006 

 Earnings per share (Sh.) 25 22 20 17 16 

 Dividend per share (Sh.) 11 10.5 10 9.5 9 
  

 Additional information: 

1. The year 2010 dividend has just been paid and the next dividend is payable in one year. 

2. The company has the opportunity to invest in a new product, “Nown”. In the next two years. 

3. The directors are considering reducing the dividend to Sh.7 per share for each of the next two 

years to fund the project. However, the dividend in the third year can be raised to Sh.13 per share 

and will grow by 8 per cent per annum thereafter due to the benefits from the investment. 

4. The company is focused on shareholders‟ wealth maximization and requires a rate of return of 

15% for its owners. 

 

Required: 

(i) If the directors choose to ignore the investment opportunity and dividend continued to grow at the 

historical rate, determine the value of one share using the dividend valuation model.   

     (4 marks) 
 

(ii) If the investment is accepted and therefore dividends are reduced for the next two years, determine 

the value of one share.     (4 marks) 

 

(c) Explain the meaning of the “pecking order theory”.   (4 marks) 

      (Total: 20 marks) 

 

QUESTION THREE 

(a) Explain how you would determine the offer price of an initial public offering (IPO) if you were an 

 investment banker.     (4 marks) 

 

(b) (i) Explain the reasons why there could be a conflict between profit maximization and share holder 

wealth maximization.     (2 marks) 

 

(c) “Smart analysts can manipulate the application of the net present value (NPV) method to make any 

project‟s NPV look positive. It is better to use a simpler approach like payback period or accounting rate of 

return that gives analysts fewer degrees of freedom to manipulate the numbers”. 
  

 Respond to this comment.     (4 marks) 
 

(d) Consider a project with the following cash flows attributable to a firm with a 15 per cent cost of capital: 

 

 End year cash flow 

    Sh. 

0 -20,000 

1 50,000 

2 -10,000 
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 Required: 

 (i) Compute the two internal rates of return (IRRs) associated with this cash flow stream.(6 marks) 

 

 (ii) If the firm‟s cost of capital falls between the two IRR values calculated in (d) (i) above, advise the 

firm on whether to accept or reject the project.   (2 marks) 

        (Total: 20 marks) 

 

QUESTION FOUR 

(a) Explain the three types of synergy that might result from a merger.  (6 marks) 

 

(b) (i) Evaluate the usefulness of Altman‟s Z-score in predicting bankruptcy. (4 marks) 

 

 (ii) The following statement of financial position and statement of comprehensive income relate to 

Wendani Industries Ltd. The firm‟s share is currently priced at Sh.6.00 per share: 

 

                 Wendani Industries Ltd. 

   Statement of financial position as at 31 December 2010 

 

 Assets  “Sh.”   Liabilities and shareholders‟ equity “Sh.” 

 Cash  400,000  Accounts payable 5,000,000 

 Accounts receivable 3,000,000  Notes payable-bank 1,000,000 

 Inventories 4,000,000  Total current liabilities 6,000,000 

 Total current assets 7,400,000  Mortgages 4,000,000 

 Premises 1,000,000  Debentures 6,000,000 

 Plant (NBV) 5,000,000  Total long-term debt 10,000,000 

 Equipment (NBV) 8,000,000  Preference shares (100,000 shares) 1,000,000 

 Total fixed assets 14,000,000  Ordinary shares (500,000 shares) 1,000,000 

 Total assets 21,400,000  Share premium 2,000,000 

     Retained earnings 1,400,000 

     Total shareholders‟ equity 5,400,000 

     Total  21,400,000 

 

   Wendani Industries Ltd. 

 Statement of comprehensive income for the year ended 31 December 2010 

 

     Sh. 

 Sales  6,000,000 

 Less: cost of goods sold 3,500,000 

 Less: Selling and administrative expenses 1,000,000 

 Earnings before interest and taxes 1,500,000 

 Less: Interest expense 1,100,000 

 Earnings before taxes 400,000 

 Less: taxes (30%) 120,000 

 Net income 280,000 

 

 Required: 

 Altman‟s Z-score for Wendani Industries Ltd. And interpret its meaning.   (10 marks) 

 

 Hint: Z = 1.2x1 + 1.4x2 + 3.3x3 + 0.6x4 + 0.999x5 

       (Total: 20 marks) 
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QUESTION FIVE 

(a) Explain the difference between “futures contracts” and “forward contracts”.  (6 marks) 
 

(b) The following information is provided about Utopia market 
 

 Market return 14% 

 Risk-free rate 6% 

 Corporate tax rate 30% 

 

 Pick Ltd. Is considering diversifying into the mining industry in the Utopia market where the asset beta of 

a similar-sized company in the industry, Back Ltd. is 0.90. 
 

 Back Ltd.‟s gearing details are as follows: 

  

  Book values market values 

  Sh.”million” Sh.”million” 

 Equity 165 230 

 Debt 65 60 

 

 Required: 

 The cost of equity of Pick Ltd.  (4 marks) 

 

(c) Dak Ltd. has issued the following statement as part of its annual report: 

  

 “This company aims at all times to serve its shareholders by paying a high level of dividends and adopting 

strategies that will increase the company‟s share price. Satisfying our shareholders will ensure our success. 

The company will reduce costs by manufacturing overseas wherever possible and will attempt to minimize 

the company‟s global tax bill by using tax haven facilities”. 

 

 Required: 

 Discuss the validity and implications of each of the comments and strategies in the above statement.   

    (10 marks) 

    (Total: 20 marks) 

……………………………………………………………………….………………. 

 

 

December 2010 
 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL 

your workings 

 

 

QUESTION ONE  

(a) Explain why maximizing profits might not be the same as maximizing shareholder, wealth  

            (3 marks) 

 

(b) Evaluate Modigliani and Miller‟s assumptions in support of their theory of dividend irrelevancy.  

            (5 marks) 

 

(c) ABC Ltd. expects with some degree of certainty to generate the following net income and to have the 

following capital expenditures during the next 5 years: 
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 Year 1 2 3 4 5 

 Net income (Shs.”000”) 2,000 1,500 2,500 2,300 1,800 

 Capital expenditures (Shs”000”) 1,000 1,500 2,000 1,500 2,000 

 

 The company currently has one million ordinary shares and pays dividends of Sh.1 per share. 
 

 Required: 

 (i) The dividend per share and external financing required in each year if the dividend policy is 

treated as a residual decision.       (3 marks) 
 

 (ii) The amount of external financing in each year that would be necessary if the present dividend per 

share is maintained.       (3 marks) 
 

 (iii) The dividend per share and the amount of external financing that will be necessary if a dividend 

payout ratio of 50% is maintained.      (3 marks) 
 

 (iv) The dividend policy under which aggregate dividends are maximized and external financing 

minimized.              (3 marks) 

                 (Total: 20 marks) 
 

QUESTION TWO 

Furnace Ltd. wishes to evaluate two plans, leasing and borrowing to purchase an oven. The firm‟s tax rate is 40%. 

 

Lease option: The Company can lease the oven under a 5 year lease requiring annual end-of year payments of 

Shs.5, 000,000. All maintenance costs will be paid by the lessor, while insurance and other costs will be borne by 

the lessee, the lessee will exercise its option to purchase the asset for Shs.4, 000,000 at termination of the lease. 

 

Purchase option: The oven costs Sh.20, 000,000 and will have a five year useful life. Depreciation charges in the 

five years will be as follows: Year 1 Sh.4,000,000, Year 2 Sh.6,400,000, Year 3 Sh.3,800,000, Year 4 

Sh.2,400,000 and Year 5 Sh.2,400,000. (The balance of value being the residual value). 

 

The total purchase price will be financed by a 5 year, 15% loan requiring equal annual end of year payments of 

Sh.5, 967,000. The firm will pay Sh.1 million per year for a service contract that covers all maintenance costs. 

Insurance and other costs will be borne by the firm. The firm plans to keep the equipment and use it beyond its 5 

year recovery period. 

 

Required: 

(a) For the leasing option, calculate the following: 

 (i) The after tax cash outflow each year.      (2 marks) 

 

 (ii) The present value of the cash outflow, using a 9% discount rate.    (2 marks) 

 

(b) In respect of the purchase option, calculate the following: 

 

 (i) The annual interest expense deductible for tax purposes for each of the 5 years. (3 marks) 

  

 (ii) The after tax cash outflow resulting from the purchase for each of the 5 years.  (5 marks) 

  

 (iii) The present value of the cash outflow, using a discount rate of 9%.   (2 marks) 

 

(c) Compare on the present values of the cash outflow streams for the two plans and determine which plan 

would be preferable.       (2 marks) 
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(d) Comment on the circumstances under which the adjusted present value (APV) method might be a better 

method of evaluating a capital investment than the net present value (NPV) method.   (4 marks) 

       (Total: 20 marks) 

QUESTION THREE 

(a) An investor holds 200,000 shares in ZP Ltd. and is considering buying some put options to hedge her 

investment. ZP Ltd.‟s current share price is Sh.60. the risk free rate is currently 12% per annum and the 

recent volatility of ZP Ltd‟s share price has been 30%. The investor requires European put options with an 

exercise price of Sh. 50 for exercise in two year‟s time. 
 

 Required: 

 (i) The amount that the investor is likely to pay for the 200,000 put options given the investor‟s 

specifications.       (12 marks) 
 

 (ii) The investor‟s change in wealth if she buys the put options and the share price of ZP Ltd.‟s share 

in two year‟s time is Sh.30.       (4 marks) 
 

(b) Explain two advantages of using a plain vanilla currency swap with monthly delivery compared with a 

strip of forward contracts.       (4 marks) 

     (Total: 20 marks) 

 

QUESTION FOUR 

(a) Differentiate between management buy-outs and management buy-ins.    (4 marks) 
 

(b) Kubwa Ltd. is considering the acquisition of Ndogo Ltd. relevant financial information is as follows: 

 

  Kubwa Ltd.  Ndogo Ltd. 

 Present earnings (Sh. “000”) 4,000 1,000 

 Ordinary shares (thousands) 2,000 800 

 Earnings per share (Sh.) 2.00 1.25 

 Price/earning ratio (times) 12 8 

 

 Kubwa Ltd. plans to offer a premium of 20 per cent over the market price of Ndogo Ltd.‟s shares. 

 

 Required: 

 (i) The ratio of exchange of the shares and the number of new shares to be issued. (4 marks) 

 

 (ii) The earnings per share for the surviving company immediately following the merger.  

       (2 marks) 
 

 (iii) If the price earnings ratio of Kubwa Ltd. stays at 12 times, determine the market price per share of 

the surviving company and explain what would happen if the price earnings ratio fell to 11 times. 

       (4 marks) 

(c) Suppose the pound sterling is bid at $1.9724 in New York and the Euro is offered at $1.3450 in Frankfurt. 

At the same time, London banks are offering the pound sterling at €1.4655. 

 

 Required: 

 Show the steps that an astute trader would follow to earn a risk-less profit through a triangular arbitrage. 

Assume that the trader begins in New York with $1,000,000.     (6 marks) 

     (Total: 20 marks) 
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QUESTION FIVE 

(a) Muungano Ltd. has four main subsidiaries in which it has invested in the following proportions: 

 

 Subsidiary proportion of investment (%) Beta 

 Electricity utility 60 0.7 

 Cable company 25 0.9 

 Real estate 10 1.3 

 Special projects 5 1.5 

 Required: 

 (i) The holding company‟s beta.     (2 marks) 

 

 (ii) Assuming that the risk free rate is 6% and the market risk premium is 5% determine the holding 

company‟s required rate of return.     (2 marks) 

 

(b) MM Ltd. has earnings before interest and taxes of Sh.3 million and a 40% tax rate. Its required rate of 

return on equity in the absence of borrowing is 18%. 
 

 Required: 

 In the absence of personal taxes, determine the value of the company in a Modigliani and Miller world: 
 

 (i) With no leverage.      (3 marks) 

 

 (ii) With Sh.4 million in debt.     (3 marks) 

 

 (iii) With Sh.7 million in debt     (3 marks) 

 

(c) With reference to (b) above, assume that personal as well as corporate taxes now exist. The marginal 

personal tax rate on common stock income is 25% and the marginal personal tax rate on debt income is 

30%. 
 

 Determine the value of the company for each of the three debt alternatives in parts (b) (i)-(iii) above. 

Comment on your answers.      (7 marks) 

      (Total: 20 marks) 

……………………………………………………………………….………………. 
 
 

JUNE 2010 
 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL 

your workings 
 

QUESTION ONE  

(a) Differentiate between “capital investment” and “capital budgeting”.    (4 marks) 
 

(b) Discuss ways in which a capital budgeting policy could inadvertently thwart corporate strategy and 

thereby limit profitability        (4 marks) 
 

(c) Kihingo limited is considering five project proposals as summarized below: 

  

 Project initial investment annual revenue annual fixed costs life of project 

  Sh.”million” sh.”Million sh.”Million (years) 

 A 10 20 5 3 

 B 30 30 10 5 

 C 15 18 6 4 

 D 12 17 8 10 

 E 18 8 2 15 
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 Additional information: 

1. Variable costs are 40% of annual revenue. 

2. projects D and E are mutually exclusive 

3. Each project can only be undertaken once and each is divisible. 

4. assume that; 

 The cash flows are confined to within the life time of each project. 

 The cost of capital is 10%. 

 No inflation exists 

 No taxes exist. 

 All cash flows occur on anniversary dates. 

 Required: 

Assuming that the company has a limit of sh.40 million for investment in projects at time 0 (zero), 

determine the optimal allocation of the sh.40 million among the projects and the resultant maximum net 

present value (NPV) obtainable   (12 marks) 

     (Total: 20 marks) 

 

QUESTION TWO 

Investor ltd. Is considering two new investment opportunities, project 1and project 2. Each project would require 

an immediate cash outlay of sh.10, 000,000. Investor ltd. expects to have available enough resources to undertake 

one of the projects. 
 

The directors of investor ltd. Believe that returns from existing activities and from the new projects will depend on 

which of the three economic environments prevails during the coming year. They estimate returns for the coming 

year (tat is, cash flows to be received at the end of the year plus project value at that time), and the probabilities of 

the three possible economic environments, as follows: 
 

    Economic environment 

           A      B      C 

Probability of economic environment       0.3      0.4      0.3 

          Sh.     Sh.      Sh. 

Returns from project 1  12,500,000 12,500,000 9,500,000 

Returns from project 2  10,000,000 11,750,000 13,000,000 

Aggregate returns from existing 

Portfolio of projects  90,000,000 120,000,000 130,000,000 

 

The company has current market value of sh.100, 000,000. The directors of investor ltd. Believes that the risks and 

returns per shilling of market value of their existing activities are similar to those of the stock market as a whole, 

including their dependence on whichever economic environment prevails. The current rate of interest on short-term 

government securities is 10% per annum 
 

Required: 

Using the capital asset pricing model (CAPM), advice the directors of investor ltd. on which of the two proposed 

projects should be accepted.    (20 marks) 

 

QUESTION THREE 

(a) (i) explain the meaning of the term “free cash flow”.   (2 marks) 
 

 (ii) Explain whether you agree with the assertion that “free cash flows should be fully utilized in 

paying out dividends”.    (4 marks) 
 

(b) Baba ltd. And Toto ltd. Are firms operating in the same industry and are considered to be in the same risk 

class. Each firm has an operating profit of sh.250000000 per annum. The capital structures of the two 

firms are as follows: 
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Baba ltd.  Toto ltd. 

      Sh.”million”  sh.”Million” 

 Equity (market value)   1,750   1,000 

 8% debt (trading at par)       -   1,000 

      1,750   2,000 

 The two companies have a 100%dividend payout ratio. 

 

 Required: 

 (i) The weighted average cost of capital (WACC) of each of the two firms. 
  

 (ii) Comment on the equilibrium position of the equity shares of the two firms. 
  

(iii) Advice alusa, who holds 4% of Toto ltd.,s equity shares, on the arbitrage opportunities available to 

him. 

 (Ignore taxation)        (4 marks) 

 

(c) Mwananchi ltd. has total assets of sh.100 million. The company is considering financing alternatives for a  

Sh.10 million expansion. Investors are believed to be generally well informed. 

 

The following information relating to mwananchi ltd. And four other companies in the same industry has 

been provided. 

  Company 

     1 2 3       4     mwananchi ltd. 

Debt to total assets   0.30 0.40 0.45     0.50          0.47 

Times interest earned   8.32 6.41 5.83     5.23          4.98 

Weighted average cost of capital      12.23% 10.67% 11.56%     12.68%       13.12% 

 

Required: 

Explain whether you would recommend debt or equity financing for mwananchi ltd. (4marks) 

      (Total: 20 marks) 

 

QUESTION FOUR 

(a) Explain the defense tactics available to the managers of a target company in order to fend off a hostile 

takeover attempt.         (6 marks) 

(b) Kubwa ltd. Wishes to acquire Ndogo ltd. The directors of kubwa ltd. wish to justify the acquisition on the 

grounds that it will increase the shareholders` wealth. The supporting evidence produced by the directors 

of Kubwa ltd. Is summarized below: 

    Kubwa ltd.  Ndogo ltd 

    Sh.”000”  sh.”000” 

 Operating profit   12,400   5,800 

 Interest payable   (4,431)   (2,200) 

 Profit before tax   7,969   3,600 

 Tax   2,789   1,260 

 Earnings attributable to ordinary shareholders  5,180   2,340 
 

 

 Earnings per share (per-acquisition)   sh.14.80  sh.29.25 

 Market price per share (pre-acquisition)   sh.222   sh.322 

 Estimated market price per share (post acquisition) sh240   sh.360 

 Kubwa ltd. would issue three of its ordinary shares for every two shares in Ndogo ltd., in consideration of 

the acquisition of Ndogo ltd. 
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Required: 

 (i) Show calculations of how the directors of Kubwa ltd. arrived at their estimates of post-acquisition 

value, and if you do not agree with these estimates, produce revised estimates of the post-

acquisition values.        (8 marks) 

 

 (ii) If the acquisition is contested by Ndogo ltd., determine the maximum price that Kubwa ltd. would 

offer without reducing the wealth of its shareholders.    (2 marks) 

 

(c) Evaluate the difference between “fundamental analysis” and “technical analysis”.  (4 marks) 

           (Total: 20 marks) 
 

QUESTION FIVE 

(a) Explain how a company could manage foreign currency risks when invoicing a customer in a country 

which has no developed capital and currency markets.     (4 marks) 
 

(b) (i) explain the key factors that affect the value of options.    (4 marks) 

 

(ii) Mapema ltd.`s shares are currently trading at sh.3.50 per share. A European option exists on the 

shares with an exercise price of sh.3.30 with 3 months to maturity. The risk free rate is 8% and the 

variance of the rate of return on the share is 12%. 

 

Required: 
Determine the value of the call option using the black- scholes option pricing model. (8 marks) 

 

(c) Outline four limitations of the black-scholes option pricing model.   (4 marks) 

           (Total: 20 marks) 

    ………………………………………………….. 

 

December 2009. 
 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL 

your workings. 
 

QUESTION ONE 

(a) Differentiate between “sensitivity analysis” and scenario analysis”.  (4 marks) 

 

(b) ABC ltd. Is contemplating a replacement cycle for new machinery. This new machinery will cost sh.100 

million to purchase. The operating and maintenance costs for the future years are as follows: 
 

 Year 0 1 2 3 

 Operating and maintenance costs (sh.”000”) 0 120,000 130,000 140,000 
 

 The resale values of the machinery in the second market are as follows: 
 

 Year 0 1 2 3 

 Resale value (sh.”000”) 0 80,000 65,000 35,000 

 

 Assume: 
 

1. The replacement is by an identical machine. 

2. There is no inflation, tax or risk. 

3. The cost of capital is 11%. 
 

Required: 

Advice ABC ltd. On whether to replace this new machine on a one, two or three-year cycle. (Use the 

equivalent annual cost method).     (10 marks) 
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(c) Despite Modigliani and miller‟s (MM) argument that dividends are irrelevant, dividend payments have 

tended to smoothen over the years rather than take the expected random pattern. 
  

 Required: 

 Explain three theories which support dividend payment.       (6 marks) 

                 (Total: 20 marks) 

QUESTION TWO 

(a) Explain the differences between “financial intermediation” and “financial facilitation”.  (4 marks) 

 

(b) Miranda ltd. Is an all equity financed company with a cost of capital of 18.5%. The company is 

considering the following one year capital investment projects: 

 

 Project  outlay annual cash flow beta 

   Sh.”000” sh.”000”  

 A  1,000 1,095 0.3 

 B  1,000 1,130 0.5 

 C  1,500 1,780 1.0 

 D  2,000 2,385 15 

 E  2,000 2,400 2.0 

 

 The risk free rate of return is 8% and the market rat of return is 15%. 

 

 Required: 

 (i) The beta factor of Miranda ltd.    (2 marks) 

 

 (ii) The required rate of return and the expected return of each of the above projects indicating which 

project(s) the company should undertake and which one(s) to reject.  (8 marks) 

 

 (iii) The beta factor of the investment in the accepted projects.         

(2 marks) 

 

(c) Evaluate any four limitations of portfolio analysis.    (4 marks) 

                  (Total: 20 marks) 

 

QUESTION THREE 

(a) Modigliani and Miller (MM) suggested that “real world considerations”, primarily institutional constraints 

on high leverage, would prevent firms from approaching 100 per cent debt levels. 

 

 Giving reasons, explain whether you agree with the above statement.  (4 marks) 

 

(b) An unlevered firm operates in a perfect market and has a net operating income (EBIT) of sh.2, 000,000. 

The required rate of return on assets of firms in this industry is 8%. Assume that the firm issues sh.10, 

000,000 worth of debt with a required rate of return of 6.5 per cent and issues the proceeds to repurchase 

outstanding stock. There are no corporate or personal taxes. 

 

 Required: 

 (i) The market value and required rate of return of this firm‟s stock before the repurchase transaction, 

according to MM proposition 1.    (2 marks) 

  

 (ii) The market value and required rate of return of this firm‟s remaining stock aftr the repurchase 

transaction according to MM proposition 11.   (4 marks) 
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(c) International manufacturers limited has earnings before interest and taxes (BIT) sh.10 million. The 

company has sh. 60 million of debt outstanding with a required rate of return of 6.5 per cent. 

  

 Assume that there are corporate taxes of 30% the rate of return required by shareholders of an all equity 

firm is 10% 

Required: 

 (i) The present value of the interest tax shield of International Manufacturers ltd. As well as the total 

value of the firm.    (4 marks) 

  

  

(ii) The gain from leverage if personal taxes of 10 per cent on common stock income and 35 per cent on debt 

income exists.     (6 marks) 

                 (Total: 20 marks) 

QUESTION FOUR 

(a) Explain the meaning of the term “corporate control” and describe the various ways in which a change of 

corporate control could occur     (8 marks) 

 

(b) The following statement of financial position and income statement relate to Migingo Industries ltd. The 

company‟s ordinary shares are currently priced at sh.6 per share: 

  

  Migingo Industries Ltd. 

  Statement of financial position as at 31 December 2008 

 Assets  liabilities and .shareholders` equity 

  Sh.  Sh. 

 Cash 400,000 accounts payable 5,000,000 

 Accounts receivable 3,000,000 notes payable 1,000,000 

 Inventories 4,000,000 total current liabilities 6,000,000 

 Total current assets 7,400,000 mortgage 4,000,000 

 Land 1,000,000 debentures 6,000,000 

 Plant (NBV) 5,000,000 total long-term debt 10,000,000 

 

 

  Sh.  Sh. 

 Equipment (NBV) 8,000,000 preference share capital 

 Total fixed assets 14,000,000 (100000 shares) 1,000,000 

   Ordinary share capital 

   (500000shares) 1,000,000 

   Paid in capital in excess of par 2,000,000 

   Retained arnings 1,400,000 

   Total shareholders` equity 5,400,000 

  21,400,000 total liabilities and equity 21,400,000 

 

   Migingo Industries ltd. 

  Income statement for the year ended 31 December 2008 

     Sh. 

 Sales 6,000,000 

 Cost of goods sold (3,500,000) 

 Selling and administration expenses (1,000,000) 

 Earnings before interest and taxes 1,500,000 

 Interest 1,100,000 

 Earnings before taxes 400,000 

 Taxes (30%) (120,000) 

 Net income 280,000 
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Required: 

 Altman‟s Z score and interpret its meaning. 

 

 (Z = 1.2X1 + 1.4X2 + 3.3X3 + 0.60X4 + 0.999X5)   (6 marks) 

(c) Critically evaluate the applicability of the Altman‟s Z score in the context of your country.  (6 marks) 

   (Total: 20 marks) 

QUESTION FIVE 

(a) Evaluate the importance of budgeting and budgetary control in the management of public sector 

enterprises.        (6 marks) 

 

(b) (i) Explain the advantages of using interest rate swap arrangements.   (4 marks) 

 

 (ii) Explain the risk involved in using interest rate swap techniques.  (2 marks) 

 

(c) Biashara International ltd. Is an import-export company based in Kenya. 

 

 On 1 October 2008, the company exported coffee to South Africa on a two months credit amounting to 

South African      Rands (SAR) 14,000,000. 

 

 Additional information: 

 1. The rates in the forex and money markets wre as follows: 

   Ksh/1SAR 

  1 October 2008 8.45 

  1 December 8.40 

   Interest rates 

  Kenya 21% per annum 

  South Africa 9% per annum 

2. In the forex market, the SAR was quoted forward at an annual premium of 27%. 

3. The customer settled the amount due on 1 December 2008. 

 

Required: 

(i) Expected two-month forward exchange rate as at 1 October 2008.   (2 marks) 

 

(ii) Advise Biashara International ltd. On which is the better hedging strategy between a forward 

contract and a money market hedge.    (6 marks) 

    (Total: 20 marks) 

  ……………………………………… 

 

 

Pilot paper August 2009  
 

Answer ALL questions. Marks allocated to each question are shown at the end of the question. Show ALL 

your workings 

 

QUESTION ONE 

(a)  Explain how financial imperatives might differ between enterprises in the private and public sectors and 

the extent to which such differences are a function of the differing nature of the accountabilities in these 

sectors.      (9 marks) 

 

(b) Orange limited and rainbow limited are companies operating in the same line of business. In the past few 

years, orange limited has experienced stiff competition from rainbow limited to an extent that orange 

limited is now contemplating acquiring rainbow limited to consolidate its market share. 
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The following financial data is available about the two companies 

  

  Orange limited rainbow limited 

 Annual sales (millions) sh.375 sh.45 

 Net income (millions) sh.30 sh.3.75 

 Ordinary shares outstanding (millions)   7.5      1.5 

 Earnings per share (EPS) sh.4 sh.2.5 

 Market price per share sh.42 sh.18 

  

 Both companies are in the 30 per cent income tax bracket 

 

 Required: 

(i) Maximum exchange ratio orange limited should agree to if it expects no dilution in its EPS. 

   (3 marks) 

 

(ii) Premium the shareholders of rainbow limited would receive at the exchange ratio obtained in (b) 

(i) above?   (2 marks) 

 

(iii) Orange limited`s post acquisition EPS if the two companies agree on an offer price of sh.21 

   (3 marks) 

 

(iv) Orange limited`s EPS if every 50 shares of rainbow limited are exchanged for one 12% debenture 

of sh.1,000 par value.    (3 marks) 

                (Total: 20 marks) 

 

QUESTION TWO 

The finance manager of STN ltd. is planning next year‟s capital budget. STN ltd. expects its net income to b sh.2, 

700,000 next year and its current dividend payout ratio is 30%. The company‟s earnings and dividends are 

expected to grow at a constant rate of 8% pr annum. The last dividend paid by the company was sh.1.00 per share 

and the current equilibrium share price is sh.16. STN ltd can raise up to sh.1, 800,000 of debt at 11% before-tax 

cost, the next sh.1, 800,000 will cost 12% and all debt above sh.3, 600,000 will cost 13%. If STN ltd. Issues new 

ordinary shares, a 12% underwriting cost will be incurred. STN ltd.can sell the first sh.200,000 of new ordinary 

shares at the current market price, but to sell any additional new shares, STN ltd must lower the price to sh.14. 

STN ltd. Is at its optimal capital structure, which is 60% debt and 40% equity and the firm‟s corporation tax rate is 

40%. STN ltd. has the following independent, indivisible and equally risky investment opportunities: 

 

Project Cost Internal rate of return (IRR) 

  Sh. % 

A 3,200,000 13.0 

B 1,300,000 10.7 

C 1,750,000 12.0 

D 450,000 11.2 

 

 

Required: 

(a) The break points in the marginal cost of capital (MCC) schedule.  (4 marks) 

 

(b) The cost of ach component of the capital structure.   (4 marks) 

 

(c) The weighted cost of capital (WACC) in the intervals between each break in the MCC schedule   

      (6 marks) 
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(d) The MCC/IOS graph clearly indicating the projects to be undertaken.  (4 marks) 

 

(e) STN ltd.`s optimum capital budget.   (2 marks) 

                 (Total: 20 marks) 

 

QUESTION THREE 

(a) (i) What is the difference between a management and advisory firm and an investment company? 

      (3 marks) 

  

(ii) Describe the approach toward portfolio management adopted by each type of organization in (a) 

(i) above    (3 marks) 

 

(b) Closed-end funds generally invest in securities and financial instruments that are relatively illiquid 

whereas most mutual funds invest in widely traded stocks and bonds. 

 

 Explain the difference between closed-end funds and open-end funds and why this liquidity distinction 

matters.    (5 marks) 

 

(c) Mutual funds can effectively charge sales fees in three ways; front-end load fees, annual fees or deferred 

(that is back-end) load fees. Africana Re Fund offers its investors the following choices: 

  

(i) 3% front-end load fees; 

 

(ii) 0.5% annual deduction; or 

 

(iii) 2% back-end load fees. 

 

The fee is paid at the liquidation of the investor‟s position Africana Re Fund‟s net asset value growth 

averages 12% per annum. 

 

Mr. Onyango plans to invest Ksh.100,000 in the fund. 

 

Required: 

(i) Compute the investment‟s worth in three years under each scheme and advice on the best scheme. 

    (6 marks) 

 

(ii) If the investment horizon is 10 years, would your advice in (c) (i) above change? Justify your 

answer.   (3 marks) 

              (Total: 20 marks) 

QUESTION FOUR 

(a)  Discuss four causes and indicators of financial distress.   (8 marks) 

 

(b) Discuss the various approaches used in predicting financial distress for a business firm.   (12 marks) 

                    (Total: 20 marks) 
 

QUESTION FIVE 

(a) Explain the following terms in relation to international business activities: 
 

 (i) Transaction risk.   (2 marks) 
 

 (ii) Translation risk.   (2 marks) 
 

(b) Explain how inflation rates can be used to forecast exchange rates.  (4 marks) 
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(c) A UK company expects to receive US $ 800,000 from a customer in November 2009 and is thinking of 

hedging the currency exposure with an over the counter (OTC) currency option. The company is worried 

that the dollar will fall in value over the next few months. 

 

 The following option prices are available for the November 2009 expiry date, for calls and puts on sterling 

pounds (₤) exchange for the US dollar ($). Prices of options are quoted in cents per ₤ 1. 

 

   Option prices 

 Exercise price calls puts 

  $  

  1.60 3.53 0.99 

  1.65 1.46 1.85 

  

 Assume it is now 1 September 2009 and the US dollar per sterling pound spot rate is $ 1.60. 

 

 Required: 

 (i) Show how the company would hedge itself against the currency exposure clearly indicating the 

cost at each of the two exercise prices.  (4 marks) 

  

 (ii) Suppose that the spot exchange rate in November 2009 when the option expires is $ 1.70. 

 

  Explain the action the company should take and calculate the effective exchange rate if the option 

is at an exercise price of: 

  

  $ 1.60.    (4 marks) 

  $ 1.65.    (4 marks) 

               (Total: 20 marks) 

…………………………………………………….. 

    

 

JUNE 2009 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) Explain the meaning of the term “agency problem” as used in financial management. (2 marks) 

 

(b) Explain any three factors that influence interest rates in an economy.   (6 marks) 

 

(c) Distinguish between “real options” and “financial options”.    (4 marks) 

 

(d) The Awendo Investment Fund (AIF) has a total of sh.500 million invested in five stocks: 

 

 Stock  Investment (sh.)  Stock‟s beta coefficient 

 A 160 million 0.5 

 B 120 million 2.0 

 C 80 million 4.0 

 D 80 million 1.0 

 E 60 million 3.0 
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The risk free rate of return is 8% whereas the market return has the following estimated probability 

distribution for the next period: 

 

 Probability market return (%) 

0.1 10 

0.2 12 

0.4 13 

0.2 16 

0.1 17 

 

 Required: 

 (i) The expected return from the market.       (2 marks) 

 

 (ii) The beta coefficient for the investment fund.     (2 marks) 

 

 (iii) The estimated equation for the security market line (SML).   (2 marks) 

 

 (iv) The investment fund‟s required rate of return for the next period.   (2 marks) 

          (Total: 20 marks) 

 

QUESTION TWO 

Mapema ltd. has the following capital structure which it considers optimal: 

 

Source of capital  amount 

   Sh.”Million” 

Ordinary share capital 90.0 

Preference share capital 22.5 

Long term debt  37.5 

Total   150.0 

 

Mapema ltd. Expects an after tax income of sh.5,143,000 in the next financial year. The company has a policy of 

paying out 30% of its earnings as dividends. Investors expect dividends to grow at an annual rate of 9% 

indefinitely. The dividend last paid by the company was sh.5.40 per share. The company‟s ordinary shares 

currently sell on the stock market at sh.90 per share. The company can obtain additional financing in the financial 

markets as follows: 

 

Long term debt 

 

Up to sh7.5 million of long-term debt can be obtained at an interest rate of 12%; long-term debt in the range of 

sh.7.5 million to sh.15 million must carry an interest rate of 14%; and all long-term debt over sh.15 million will 

have an interest rate of 16%. The corporate tax rate is 30% and interest on long-term debt is tax allowable. 

 

Ordinary shares 

 

New ordinary shares of up to sh..18 million can be raised at sh.81 per share. To issue additional shares above sh.18 

million, a floatation cost of sh.18 per share must be incurred.  

Preference shares 

New preference shares with a par value of sh.100 can be issued and the dividend rate is 11%. However, a floatation 

cost of 5% of the par value per share must be incurred for all preference shares up to sh.11.25 million. Additional 

preference shares (above sh.11.25 million) can be raised at a floatation cost of sh.10 per share. 
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The investment opportunities available to the company are as shown below: 

 

Investment Outlay Annual net cash flow Life (years)  Internal Rate of Return) IRR) 

(%) 

  SH. SH. 

 I 15,000,000 3,286,800 7    12.0 

 II 15,000,000 4,731,630 5    17.4 

 III 15,000,000 3,255,270 8    14.2 

 IV 30,000,000 5,684,220 10   16.0 

 V 30,000,000 8,141,760 6       ? 

 

Required: 

(a) Determine the break points in the marginal cost of capital (MCC) schedule  (6 marks) 

 

(b) Calculate the weighted average cost of capital (WACC) in the intervals between the break points in the 

MCC schedule.        (6 marks) 

 

(c) Calculate the internal rate of return (IRR) for project V.     (3 marks) 

 

(d) Construct an investment opportunity curve (IOC)/marginal cost of capital (MCC) schedule and indicate 

which project(s) should be accepted or rejected.      (5 marks) 

         (Total: 20 marks) 

 

QUESTION THREE 

(a) Bidii ltd. has a cost of equity of 10%. The company currently has 250,000 shares outstanding and selling 

on the stock exchange at sh.120 per share. The company‟s earnings are sh.10 per share and it intends to 

maintain a dividend payout ratio of 50% at the end of the current financial year. The company‟s expected 

net income is sh.3 million and the available investment proposals are estimated to require sh.6 million. 

 

 Required: 

 Using the Modigliani and Miller (MM) proposition on dividend irrelevance, show that the payment of 

dividends does not affect the value of the firm.       (8 marks) 

 

(b) The management of Shujaa ltd. Is excited that the government has reduced the corporate tax rate from 33% 

to 30%. This tax cut is expected to increase the net present value of operating cash flows of the company 

by sh.15million. 

 

The current capital structure of the company is as follows: 

   Sh.”Million” 

Ordinary share capital (sh.5 par value) 30 

Retained earnings  70 

Share premium  40 

Shareholders equity  140 

10% debentures (sh.100 par value) 40 

   180 

 

The company‟s shares are currently selling at sh.32.00 ex-div and the debentures are selling at sh.135 cum-

interest 

 

The equity beta is 1.2. The market return is 13%. Debt capital is risk free. 

 

Assume that the cost of debt and the market price of the debentures will not change as a result of the tax 

cut. 
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Required: 

(i) Determine Shujaa ltd`s weighted average cost of capital (WACC) before the tax cut.(6 marks) 

 

(ii) Determine the expected market price per share of Shujaa ltd. after the tax reduction.(6 marks) 

 

 (in answering part (b) (ii) above, use the Modigliani and Miller‟s (MM`s) hypothesis under 

corporate taxes). 

       (Total: 20 marks) 

 

QUESTION FOUR 

Pentel lt., a computer assembly company, intends to expand its operations. This will require an expansion of its 

assets by 50%. The annual incremental sales to be generated by this expansion are estimated to be sh.18 million 

with annual incremental earnings before interest and taxes (EBIT) of 25% on incremental sales. All the financing 

for this expansion will come from external sources as profit retentions are already committed elsewhere. 

A financial analyst hired by the company has submitted the following proposals of financing the expansion for 

consideration: 

 

Plan A           Issue of 10% debentures 

 

Plan B            Issue of 10% debentures for half the required amount and issue of ordinary shares at 25% premium 

for the remaining balance of the amount. 

 

Plan C           Issue of ordinary shares at 25% premium. 

 

The financial statements of the company for the year ended 30 April 2009 are as shown below: 

     

    Pentel ltd. 

                          Balance sheet as at 30 April 2009 

 

Equity and liabilities sh.”000” assets sh.”000” 

Ordinary share capital (sh.10 par value) 32,000 non-current assets  64,000 

8% debentures  24,000 current assts  32,000 

Retained earnings 16,000 

Current liabilities 24,000                       

Total equity and liabilities 96,000 Total assets  96,000 

 

   Pentel ltd. 

   Income statement for the year ended 30 April 2009 

      Sh.”000” 

Sales 152,000 

Operating costs (128,000) 

Earnings before interest and taxes 24,000 

Debenture interest (1,920) 

Earnings before taxes 22,080 

Taxes (30%) 6,624 

Earnings available to ordinary shareholders 15,456 
 

Earnings per share 4.83 
 

The tax rate is expected to remain constant at 30%. 
 

Required: 

(a) The number of additional ordinary shares to be issued under financial plans B and C. (3 marks) 
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(b) The earnings per share (EPS) indifference points between: 

  

 (i) Plan A and plan B    (3 marks) 

 

 (ii) Plan A and plan C    (3 marks) 

 

 (iii) Plan B and plan C    (3 marks) 

 

(c) Assume that the price/earnings (P/E) ratio will be 8 if plan C is adopted but will drop to 6 if either plan A 

or plan B is used to finance the expansion. 

 

 Determine the market price per share under each financing plan and advise pentel ltd. On the best means of 

financing the expansion    (8 marks) 

     (Total: 20 marks) 

QUESTION FIVE 

(a) The following information has been extracted from the books of Sawa ltd. For the year ended 30 June 

2008: 

 

 Earnings after taxes sh.7.5 million 

 Total dividends paid sh.4.5 million 

 Number of shares outstanding 1 million 

 Cost of capital 10% 

 Rate of return on investments 12.5% 

 

 Required: 

 The theoretical market value of the company‟s share using Walter‟s model.  (6 marks) 

 

(b) Explain the effects of the activities of the International Monetary Fund (IMF) on the operations of 

multinational corporations.     (8 marks) 

 

(c) Explain the main causes of project failure in the public sector.    (6 marks) 

      (Total: 20 marks) 

……………………………………………. 

  

December 2008 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

Maendeeleo ltd. obtained a listing on the stock exchange in May 2008. Previously, 90% of the company‟s shares 

were owned by members of one family. Since the listing, approximately 60% of the issued shares have been 

owned by other investors. 

 

The company‟s earnings and dividends for the five years prior to the listing on the stock exchange, as well as the 

current year, are detailed below: 

 

Period:     Profit after tax (sh.)  Dividend per share (sh.) 

Year ended 31 December 2003 180,000,000 3.60 

Year ended 31 December 2004 240,000,000 4.80 

Year ended 31 December 2005 385,000,000 6.16 

Year ended 31 December 2006 410,000,000 6.56 

Year ended 31 December 2007 445,000,000 7.12 

Year ended 31 December 2008 550,000,000 (estimate) 
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Additional information: 

1. The number of issued ordinary shares was increased by 25% during the year ended 31 December 2005 and 

by 50% at the time of listing. 

2. The company‟s authorized share capital is currently sh.250,000,000 in sh.2.50 ordinary shares of which 

40,000,000 have been issued. 

3. the market value of the company‟s equity shares is sh.780,000,000 

4. The board of directors of Maendeleo ltd. Is discussing future dividend policy. An interim dividend of 

sh.3.16 per share was paid immediately prior to the listing and the Finance Director has suggested a final 

dividend of sh.2.34 per share. 

5. The company‟s declared objective is to maximize shareholder‟s wealth. 

 

Required: 

(a) Comment on the nature of the company‟s dividend policy prior to the listing and explain whether such a 

policy is likely to be suitable for a company listed on the stock exchange.  (5 marks) 

 

(b) Explain whether the proposed final dividend of sh.2.34 is likely to be an appropriate dividend: 

 

 (i) If the majority of the company‟s shares are owned by wealthy private individuals (3 marks) 

 

 (ii) If the majority of the company‟s shares are owned by institutional investors. (3 marks) 

 

(c) The company‟s profit after tax is expected to increase by 15% per year for the next three years, and 8% per 

year thereafter. Maendeleo ltd`s cost of capital is estimated to be 12%. Dividends may be assumed to grow 

at the same rates as profits. 

 

 Required: 

 (i) Use the dividend valuation model to determine whether Maendeleo ltd. `s shares are currently 

undervalued or overvalued.   (6 marks) 

 

 (ii) Outline three weaknesses of the dividend valuation model.  (3 marks) 

                     (Total: 20 marks) 

 

QUESTION TWO 

(a) Explain how a decrease in the value of each of the determinants of the option price in the Black-Scholes 

option pricing model for European options is likely to change the price of a call option. 

 

(b) A ltd. Is considering introducing an executive share option scheme. The scheme would be offered to all 

middle level managers of the company. It would replace the existing scheme of performance bonuses 

linked to the post-tax earnings per share of the company. Such bonuses in the last year ranged between 

sh.500000 and sh.700000. if the option scheme is introduced, new options are expected to be offered to the 

managers each year. 

 

 It is proposed that for the first year, all middle level managers be offered options to purchase 500000 

shares at a price of sh.5.00 per share, after the options have been held for one year. If the options are not 

exercised at that time, they will lapse. Assume that the tax authorities allow the exercise of such options 

after they have been held for one year. 

 

 The company‟s shares have a current market price of sh.6.10 per share. The dividend paid was sh.0.25 per 

share, a level that has remained constant for the last three years. Assume that dividends are only paid 

annually. 

 

 The company‟s share price has experienced a standard deviation of 38% during the last year. The short-

term risk-free interest rate is 6% per annum. 
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 Required: 

 Evaluate whether or not the proposed share option scheme is likely to be attractive to middle level 

managers of A ltd.   (10 marks) 

 

(c) When informed of the scheme in (b) above, one middle level manager of A ltd. Stated that he would rather 

receive put options than call options, as they would be more valuable to him. 

 

 (i) Explain whether or not A ltd. Should agree to offer him put options. (2 marks) 

 

 (ii) Is the manager correct in his statement that put options would be more valuable to him? Explain. 

    (2 marks) 

 NB: 

 C=S N(d1)-E(e
-rt

) N(d2)  

 Where, 

   

 

 

 

    

.    d2 = d1 - σ√t 

           (Total: 20 marks) 

 

QUESTIN THREE 

(a) With the aid of a diagram, differentiate between an “efficient portfolio” and an “optimum portfolio”. 

            (4 marks) 

 

(b) The rates of return of stock A and the market portfolio for 15 periods are given below: 

 

Period return on stock A  return on market portfolio 

1 10 12 

2 15 14 

3 18 13 

4 14 10 

5 16 9 

6 16 13 

7 18 14 

8 4 7 

9 -9 1 

10 14 12 

11 15 -11 

12 14 16 

13 6 8 

14 7 7 

15 -8 10 

 

Required: 

(i) The beta for stock A       (8 marks) 

 

(ii) The characteristic line for stock A.       (4 marks) 

 

d1= In    S      + (rt + 0.5σ
2
)t 

              E 

 

                  σ√t 
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(c) Outline any four assumptions of the capital asset pricing model (CAPM)   (4 marks) 

        (Total: 20 marks) 

QUESTION FOUR 

(a) Explain why synergy might exist when one company merges with or takes over another (6 marks) 

 

(b) Hisa ltd. has the following capital structure, which it considers optimal. 

 

 Debentures 25% 

 Preference share capital 15% 

 Ordinary share capital 60% 

  100% 

 

 Additional information: 

1. Hisa ltd. `s expected profit after tax for the year ending 31 December 2008 is sh.34285714. Hisa 

ltd. has an established dividend pay-out ratio of 30%. The tax rate for the company is 30%, and 

investors expect earnings and dividends to grow at a constant rate of 9% per annum in the future. 

2. The company paid a dividend of sh.3.60 per share in the year ended 31 December 2007. The 

company‟s shares currently sell at sh.60 per share. 

3. The company can obtain new capital as follows: 

Ordinary shares: new ordinary share capital can be issued at a floatation cost of 10% 

Preference share capital: new preference share capital with a dividend of sh.11 per share can be 

issued to the public at sh.100 per share. The floatation cost is sh.5 per 

share 

Debentures: debentures can be issued at an interest rate of 12% per annum. 

4. Assume that the cost of capital is constant beyond the retained earnings break point. 

 

Required: 
 

(i) Calculate the break points in the marginal cost of capital (MCC) schedule (2 marks) 

 

(ii) Determine the cost of each capital structure component.    (4 marks) 

 

(iii) Calculate the weighted average cost of capital (WACC) in the intervals between the break point in 

the marginal cost of capital schedule. 

 

(iv) Hisa ltd. Has the following investments opportunities: 

 

Project  cost (sh.) internal rate of return (IRR) 

A 10,000,000 17.4% 

B 20,000,000 16.0% 

C 10,000,000 14.2% 

D 20,000,000 13.7% 

E 10,000,000 12.0% 

 

Which of these projects should the company accept and why?   (4 marks) 

      (Total: 20 marks) 

 

QUESTION FIVE 

(a) Explain the term “financial engineering”. 
 

(b) A medium-sized manufacturing company in South Africa is tendering for an order in Kuwait. The tender 

conditions state that payment will be made in Kuwait Dinars 18 moths from now. The company is unsure 

as to what price to tender. The company‟s marginal cost of production at the time of tendering is estimated 

to be south African rand (SA Rand) 1000000 and a 25% mark-up is normal for the company. 
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 Exchange rates 

 Dinars/1 SA Rand 

 Spot 5.467 – 5.503 

 

 No forward rate exists for 18 months time. 

 

   South Africa Kuwait 

 Annual inflation rates 9% 3% 

 Annual interest rates available 

 To the manufacturing company 

  Borrowing 14% 9% 

  Lending 9% 3.5% 

 

 Required: 

(i) Explain how the manufacturing company might protect itself against foreign exchange rate 

changes.  

       (6 marks) 

 

(ii) Recommend what tender price should be used.     (10 marks) 

      (Total: 20 marks) 

 

  

    ………………………………………………….. 

 

 

JUNE 2008 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) The concept of “economic value added” is being viewed by financial management experts as a possible 

alternative to the conventional measures of a company‟s financial performance. 

 

 Required: 

 (i) Define the term “economic value added” and outline the steps followed in its computation. 

  (5 marks) 

 

 (ii) Explain why in your opinion, economic value added is gaining prominence as an alternative 

measure of a company‟s financial performance.  (6 marks) 

 

(b) The following are the main theories advanced to explain the shape of the interest yield curve over a period 

of time 

 

(i) Expectation theory 

(ii) Liquidity preference theory. 

(iii) Market segmentation theory. 

 

Required: 

Explain the key provisions of each of the theories listed above. (9 marks) 

  (Total: 20 marks) 
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QUESTION TWO 

(a) The following extract of the balance sheet of Mapato ltd. shows the capital structure of the company as at 

31 December 2007: 

 

   Sh.”000” 

 Ordinary share capital (par value sh.125) 62,500 

 Reserves 121,500 

 Shareholders equity  184,000 

  

 Long term liability: 

 14% debenture stock (par value sh.500) 118,500 

 Capital employed 302,500 

 

 The management of the company considers the above capital structure to be optimal. 

 

 Additional information: 

 1. The company‟s earnings before interest and tax (EBIT) average sh.75 million per annum. These 

earnings are expected to be maintained in the foreseeable future. 

 2. The ordinary shares are currently trading at sh.400 per share. 

 3. The market price of the debentures is sh.525 per debenture. 

 4. The corporate rate of tax is 30 per cent. 

 

 Required: 

 Using the net income approach (incorporating taxes). Calculate the company‟s: 

  

 (i) Cost of equity.  (4 marks) 

 

(ii) After-tax cost of debt (market-value weighted) (4 marks) 

 

(iii) Market-weighted average cost of capital.  (2 marks) 

 

(b) The following information relates to Abacus ltd., an all-equity financed company: 

 

1. The market value of the company (determined using the net income approach) is sh.130 million. 

2. The cost of equity is 16 per cent. 

3. The management of the company intend to replace sh.8 million worth of equity with debentures of 

similar value (assume all legal requirements will be fulfilled). The cost of the debentures would be 

12 per cent (before tax). 

4. The company‟s earnings before interest and tax (EBIT) are expected to remain constant in the 

foreseeable future. 

5. All earnings after tax are paid out as dividend. 

6. The company‟s rate of tax is 30 per cent. 
 

Required: 

 

(i) Using the Modigliani and miller (MM) approach, assess the effect of the change in capital 

structure on the market value of the company, cost of equity and weighted average cost of capital. 

     (8 marks) 
 

(ii) Advise the management of the company on whether to change the capital structure.(2 marks) 

                                                 (Total: 20 marks) 
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QUESTION THREE 

 The earnings per share (EPS) and dividend per share (DPS) of Magarini ltd. For each of the years ended 31 

December 2003,2004,2005,2006 and 2007 were as follows: 

 

Year ended 31 December EPS (sh.) DPS (sh.) 

 2003 5.90 2.50 

 2004 6.25 2.75 

 2005 7.30 3.025 

 2006 6.75 3.33 

 2007 8.00 3.66 

 

The directors of the company are considering a change in the company‟s dividend policy. This change would 

involve a reduction in dividend per share for the year ending 31 December 2008 to sh.2.50 in order to increase the 

level of internally generated funds. 

 

Additional information: 

1. The growth rate in dividend per share after the change in policy is expected to be 12 per cent per annum. 

2. The shareholders require a return on investments of 14 per cent. 

 

Required: 
(a) The dividend cover and the dividend payout ratio for each of the years ended 31 December 

2003,2004,2005,2006 and 2007.   (4 marks) 
  

(b) The average dividend growth rate (to the nearest unit percentage) over the five year period.(2 marks) 
 

(c) Using the dividend valuation model, calculate the, Market price per share as at 31 December 2007: 
 

 (i) Before the change in the dividend policy.  (3 marks) 
 

 (ii) After the change in dividend policy.  (3 marks) 

 (d) The break-even dividend growth rate that would equate the two market prices computed in (c) (i) and (ii) 

above.   (2 marks) 

 

(e) Which factors, other than profitability, should the company consider before changing the dividend policy? 

   (4 marks) 

 

(f) Will the change in dividend policy benefit the shareholders? Justify your answer. (2 marks) 

                                               (Total: 20 marks) 

 

QUESTION FOUR 

(a) Coffelink international (CLI) ltd. Is a company based in United Kingdom (UK). The company imports 

coffee from a number of countries in Africa and South America for sale in the UK market. 

 

The company has a contract to import coffee from Kenya in two month‟s time that is on 1 August 2008. 

The payment is to be made in Kenya shillings (ksh.) and will total ksh.70 million. 

 

The management of CLI ltd. Intends to use currency futures to hedge against exposure to foreign exchange 

risk. 
 

Additional information: 

1. The spot exchange rate between the Kenya shilling (ksh.) and the United Kingdom sterling pound 

(UK£) is as follows: 

 

 128.15 ksh         =       1 UK£ 
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2. The Kenya shilling currency futures contracts trade as follows on the international financial 

market: 

 

 Contract size:                ksh.12,500,000 

 Contract:                         (UK£ per ksh.) 

  August:               0.007985 

  November:          0.008250 

 

Assume that currency futures contracts mature at the beginning of the month. 

 

Required: 

Briefly explain how CLI might hedge against foreign exchange risk on the above transaction, indicating 

the number of futures contracts required.   (4 marks) 

 

(b) Mobilenet ltd. Is a company operating in the telecommunications industry. The company intends to invest 

in equipment that would facilitate wireless internet connectivity to small and medium-sized businesses. 

The equipment would cost sh.125 million 

 

 Additional information: 

1. Given the rapid technological change in the telecommunications industry, the equipment is 

estimated to have a useful life of only three years with no salvage value. 

2. The expected annual cash inflows from the project and their probabilities of occurrence are 

dependent on the state of demand as shown below: 

 

State of demand: Probability Annual cash inflows (sh.) 

 High 0.25 82.5 million 

 Average 0.50 62.5 million 

 Low 0.25 12.5 million 

 

 3. The company intends to purchase the equipment on 1 January 2009. However, the company has 

the option of delaying the purchase to 1 January 2010 in order to obtain further information on the 

project. The cost of the equipment, the cash inflows and their probabilities of occurrence are 

expected to remain the same regardless of the project implementation date. 

 4. If the project is delayed to 1 January 2010, the cash inflows associated with each state of demand 

will be known beforehand and the management would only purchase the equipment if a positive 

net present value is expected 

 5. The cost of capital is 12% 

 

 Required: 

 (i) Using decision tree analysis, calculate the expected net present value (NPV), standard deviation 

and co-efficient of variation of the project as at 1 January 2009 under each of the two possible 

implementation dates.   (14 marks) 

 

 (ii) Advise the company on whether to invest in the equipment, and if so on which date.   

   (2 marks) 

                                      (Total: 20 marks) 

QUESTION FIVE 

(a) One of the options of achieving company growth is through acquisition of other companies. 

 

 Briefly explain two advantages and two disadvantages of the acquisition strategy as a method of realizing 

company growth.   (8 marks) 

 

(b) An investor intending to purchase shares in Sarafu Commercial Bank (SCB) ltd. has approached you for 

advice. 
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 You have obtained the following information relating to the returns on the market portfolio and on shares 

of SCB ltd. Over the years shown below: 

 

 Year ended Return on Return on SCB 

 31 December market portfolio ltd. `s shares 

  2002 16% 14% 

  2003 20% 18% 

  2004 17% 20% 

  2005 12% 16% 

  2006 19% 20% 

  2007 18% 24% 

 

 You have also ascertained that the average rate of return on treasury bills has been 10% per annum and this 

rate is not expected to change in the foreseeable future. 

 

Required: 

 (i) Expected return and total risk for the market portfolio and SCB ltd. `s shares.  (6 marks) 

 

 (ii) Beta of the shares in SCB ltd. Interpret your result.   (4 marks) 

 

 (iii) Using the security market line (SML) analysis, advise the investor on whether to purchase the 

shares in SCB ltd.     (2 marks) 

                                              (Total: 20 marks) 

  ……………………………………………….. 

 

December 2007 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) With reference to capital structure decisions, briefly explain the following costs: 

 

(i) Financial distress costs.        (3 marks) 

 

(ii) Agency costs.         (3 marks) 

 

(b) Dawanox ltd., an unleveled firm, generates average earnings before interest and tax (EBIT) of sh.20 

million per annum. The market value of the company as at 31 October 2007, the company‟s financial year-

end, was sh.120 million. 

 

 The management of the company are considering the use of debt finance and have provided the following 

additional information: 

 

1. The estimated present value of any future financial distress costs is sh.80 million. 

2. The probability of financial distress would increase with leverage according to the following 

schedule: 

 

Value of debt (sh.)  Probability of financial distress 

25 million 0.0 

50 million 0.0125 

75 million 0.0250 

100 million 0.0625 
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125 million 0.1250 

150 million 0.3125 

200 million 0.750 

 3. The corporation rate of tax is 30 per cent. 

 

  Required: 

(i) The company‟s cost of equity and weighted average cost of capital (WACC) as at 31 

October 2007 

   (2 marks) 

     

(ii) The company‟s optimal level of debt finance using the Modigliani and miller (MM) with-

tax model (excluding financial distress costs). (6 marks)  

 

 

(iii) The company‟s optimal level of debt finance using the MM with-tax model incorporating 

financial distress costs.  (6 marks) 

                                                     (Total: 20 marks) 

 

QUESTION TWO 

(a) “The government has recently been engaged in the privatisation of state enterprises with a view to 

transferring its ownership to the private sector and subsequently listing of the companies on the national 

stock exchange” 

 

 The above statement is an extract from a speech presented by the minister for finance of your country 

during a seminar on “role of the private sector in economic growth”. 

 

 Required: 

 As a consultant in the privatization of state enterprises, discuss how the financial objectives of a state 

corporation would change after privatization and the changes in emphasis likely to occur in the strategic 

and operational decisions of the privatized entity.  (14 marks) 

 

(b) An investor holds 500 shares in Amada ltd., a quoted company. Amada ltd. has been paying average 

dividends of sh.2 per share per annum in recent years. 

 

 Additional information: 

 1. The dividends are expected to grow at a rate of 15 per cent per annum over the coming three years, 

then at a rate of 10 per cent over the next three years and finally at a rate of 5 per cent per annum 

to perpetuity. 

  2. The required rate of return is 9 per cent 

 

 Required: 

 The value of the 500 shares in Amada ltd. Using the dividend growth model. (6 marks) 

                                                (Total: 20 marks) 

 

QUESTION THREE 

(a) “in an uncertain world in which verbal statements can be ignored or misinterpreted, dividend action does 

provide a clear cut means of `making a statement` that `speaks louder than a thousand words`”. (Ezra 

Solomon; the theory of financial management). 

 Elaborate on the above statement with particular emphasis on the dividend-signaling hypothesis.  

    (6 marks) 

 

(b) A company is considering a project which requires an initial investment of sh.2, 400,000 and which would 

generate annual cash flows as follows: 
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 Year  cash flow (sh.) 

1 780,000 

2 600,000 

3 420,000 

4 740,000 

5 920,000 
 

Funds may be borrowed at a cost of 10 per cent while the re-investment rate for positive cash flows is 12 

per cent 
 

Required: 

Use the Modified Internal Rate of return (MIRR) approach to determine the worth of the investment to the 

company.   (5 marks) 
 

(c) Angaza ltd. And Nuru ltd. Operate in the same industry. Both companies have reported similar earnings 

per share over the last five years ended 31 December 2006. 

 

 However, there have been disparities between the market price of the shares of the two companies. The 

market price of Angaza ltd`s shares has generally been lower than that of Nuru ltd. `s shares. 

 

 Additional information: 

 

1. Angaza ltd. has a policy of paying 40 per cent of earnings as dividend while Nuru ltd. pays a constant 

amount of dividend per share. 

2. The earnings per share (EPS), dividend per share (DPS) and market price per share (MPS) of the 

companies for each of the five years to 31 December 2006 are presented below: 

   Angaza ltd.  Nuru ltd. 

Year EPS (sh.) DPS (sh.) MPS (sh.)  EPS (sh.) DPS (sh.) MPS 

(sh.) 

2002 4.00 1.60 12.00 4.00 1.80 13.50 

2003 1.50 0.60 8.50 1.50 1.80 12.50 

2004 5.00 2.00 13.50 5.00 1.80 12.50 

2005 4.00 1.60 11.50 4.00 1.80 12.50 

2006 8.00 3.20 14.50 8.00 1.80 15.00 
 

Required: 

(i) The pay-out ratio, dividend yield and earnings yield for both companies for each of the years 

shown above.     (6 marks) 

 

(ii) Analyze your computations in c (i) above to determine the possible reasons for the differences in 

market prices of the two companies` shares.   (3 marks) 

               (Total: 20 marks) 

QUESTION FOUR 

(a) Kubwa ltd. is considering acquiring Ndogo ltd. through a share exchange. Under the terms of acquisition, 

Kubwa ltd. will offer one of its shares in exchange for every two shares in Ndogo ltd. 

  

 The summarized financial information relating to the two companies for the year ended 30 November 

2007 are as shown below: 

 

    Kubwa ltd.  Ndogo ltd. 

 Profit after tax (sh.) 150 million  30 million 

 Number of shares 25 million  8 million 

 Earnings per share (sh.) 6.00  3.75 

 Market price per share (sh.) 78.00  33.75 

 Price earning ratio 13.00  9.00 
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 Required: 

(i) The earnings per share of the combined company after the merger  (2 marks). 

 

(ii) If the price-earnings ratio after the merger falls to 12, what would be the premium received by the 

shareholders of Ndogo ltd.  (Using the combined company‟s new share price)?   (3 marks) 

 

(iii) If the price-earnings ratio after the merger falls to 12, would the merger be beneficial to the 

shareholders of Kubwa ltd.? Justify your answer.    (2 marks) 

 

(b) A ltd. Is targeting B ltd. The following defence strategies applicable in a hostile takeover situation: 

 

 (i) Crown jewels strategy.     (3 marks) 
 

 (ii) Poison pill strategy      (3 marks) 
 

 (iii) White night strategy.     (3 marks) 
 

(c) The following information relates to two firms; Bora ltd. And Beta lt.: 
 

 Firm sales (sh.) Variable costs (sh.) Fixed costs (sh.) 

  

 Bora ltd. 1,800,000 450,000 900,000 

 Beta ltd. 1,500,000 750,000 375,000 

 

 Required: 

 (i) Degree of operating leverage for each firm.    (2 marks) 

 

 (ii) Comment on how operating leverage has impacted on the earnings available to shareholders of 

each firm.     (2 marks) 

                        (Total: 20 marks) 

QUESTION FIVE 

(a) Market ventures ltd., an institutional investor, holds shares in four companies as shown below: 

 

 Company Number of shares held Average market Beta coefficient 

    price per share (sh.)  

 A ltd.  120,000 64.35 1.044 

 B ltd.  160,000 43.80 1.152 

 C ltd.  200,000 32.55 0.81 

 D ltd.  250,000 47.10 1.35 

 

 Additional information: 

1. The expected return on equity for each of the shares is as follows: 

 

Company  Expected return (%) 

A ltd. 17.55 

B ltd. 21.60 

C ltd. 15.75 

D ltd. 20.70 

 2. The expected market return is 17.1%. 

 3. The return on the 90-day Treasury bill is 9.9%. 
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Required: 

(i) Determine the required return on each of the shares in the four companies above and hence advise 

market ventures ltd. On the worth of each investment in the portfolio. (Round your figures to the 

nearest two decimal places).   (4 marks) 

 

(ii) Determine the expected return and the required return on the overall portfolio of market ventures 

ltd. And hence comment on the worth of the portfolio to the company. (Round your figures to the 

nearest two decimal places). 

 

(b) Write brief notes on the following international money and capital markets: 

 

 (i) Eurodollar market.   (4 marks) 

 

 (ii) International bond markets.   (4 marks) 

 

 (iii) International stock markets.   (4 marks) 

          (Total: 20 marks) 

    ………………………………………………… 

 

June 2007 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) Outline the relationship between internal rate of return (IRR) and marginal cost of capital (MCC) in the 

context of capital budgeting. (4 marks) 

 

(b) Biashara ltd. Is considering investing in one of three mutually exclusive projects whose cash flows are 

presented below: 

 

  Cash flows 

  Project X  project Y  project Z 

 Year. sh.”000” sh.”000” sh.”000” 

 0 (15,000) (11,000) (19,000) 

 1 6,000 6,000 4,000 

 2 6,000 4,000 6,000 

 3 6,000 5,000 8,000 

 4 6,000 2,000 12,000 
 

 Additional information: 

1. the risk indices for the three projects are as shown below: 

Project risk index 

 X 1.8 

 Y 1.0 

 Z 0.6 

 2. The expected return on the market portfolio is 12% 

 3. The risk-free rate is 10%. 

 4. The company‟s overall beta is 2.5. 

 

 Required: 

 (i) Determine the company‟s cost of capital.  (2 marks) 
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(ii) Using the net present value (NPV) approach, advise the company on which project to invest in. 

    (4 marks) 

 

(c) The finance manager of Biashara ltd. has suggested that the three projects in (b) above should be analyzed 

using the risk adjusted discount rate (RADR). The finance manager has developed the following model to 

calculate the RADR for each project: 

 

 RADRj = Rf+RIj (Ko-Rf) 

 

 Where: RADRj = the risk adjusted discount rate for project j. 

  Rf = risk free rate. 

  RIj = risk index for project j 

  Ko = cost of capital for the company. 

 

 Required: 

 (i) The risk adjusted discount rate for each project.  (3 marks) 

 

 (ii) NPV for each project using the risk adjusted discount rates computed in (c) (i) above. (3 marks) 

 

 (iii) Based on the NPVs determined in (b) (ii) and (c) (ii) above, advise the company on which project 

to pursue. Justify your answer.   (4 marks) 

                                                  (Total: 20 marks) 

 

QUESTION TWO 

The management of Mapema ltd. are in the process of determining the optimal capital budget of the company for 

the year ending 30 June 2008. 

 

The following information is available: 

1. The profit after tax for the year ending 30 June 2008 is estimated to be sh.22,500,000. 

2. The dividend payout ratio is 40% 

3. The ordinary shares of the company are currently trading on the stock exchange at sh.80 per share. 

4. Ordinary shareholders expect a dividend of sh.6 per share for the year ending 30 June 2008. 

5. The annual growth rate in dividend is 6% per annum. 

6. Floatation costs amount to sh.8 per ordinary share issued. 

7. The company could issue an unlimited number of 11% preference shares at sh.96 per share. The par value 

per share is sh.100. 

8. The company could obtain bank loans of up to sh.24,000,000 at a pre-tax interest rate of 10% per annum.  

9. Thereafter, an unlimited amount of bonds could be issued under the following terms: 

 Coupon interest rate 12% per annum. 

 Par value sh.1000 per bond. 

 Discount sh.30 per bond. 

 Floatation cost sh.20 per bond. 

 Maturity period ten years. 

9. The optimal capital structure of the company comprises 15% debt, 40% preference share capital and 45% 

equity. 

10. Corporation tax rate is 30% 

 

Required: 

(a) The cost of capital for each source of finance available to Mapema ltd. (5 marks) 
 

(b) The break-point(s) in the marginal cost of capital (MCC) schedule with respect to retained earnings and 

debt.    (4 marks) 
 

(c) The marginal cost of capital at each break-point identified in (b) above. (4 marks) 
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(d) The company has the following investment opportunities available for the year ending 30 June 2008 
 

 Investment Cost (sh.”000”) Internal rate of return 

    (IRR) 

 I 10,000 11.2% 

 II 50,000 9.7% 

 III 15,000 12.9% 

 IV 20,000 16.5% 

 V 45,000 11.8% 

 VI 60,000 10.1% 

 VII 30,000 10.5% 

 All the projects are divisible. 
 

 (i) With the aid of an IRR/MCC schedule, determine the project(s) that should be accepted by the 

company.   (5 marks) 
 

 (ii) Determine the company‟s optimal capital budget for the year ending 30 June 2008.(2 marks) 

     (Total: 20 marks) 
 

QUESTION THREE 

(a) The international financial markets have witnessed an increased growth in financial innovations over the 

past three decades. 

 

 Required: 

(i) Define the term “financial innovations”.  (4 marks) 

 

(ii)  Name four examples of financial innovations used in the international financial markets.  

     (1 mark) 

 

(iii)  Explain the factors that have contributed to the growth in financial innovations.  (6 marks) 

 

(b) With the aid of a diagram, explain the three theories of the term structure of interest rates.  (9 marks) 

                                                                 (Total: 20 marks) 

 

QUESTION FOUR 

(a) Explain the propositions by Modigliani and miller (MM) with respect to the effect of leverage on the 

overall cost of capital and value of a firm.   (4 marks) 

 

(b) Maisha ltd. And Bora ltd. Manufacture wall clocks. The selling price of each wall clock is sh.1,000 with a 

variable cost of sh 700. Each of the companies realizes average annual sales of sh.70,000,000 and incurs 

average fixed costs of sh.1,700,000 per annum. 

 

 However, the two companies differ in their capital structures as stated below: 

 

 Maisha ltd. Is an all-equity financed company having issued 40,000 ordinary shares of sh.10 par value. 

 Bora ltd. Is financed with 20,000 ordinary shares of sh.10 par value and a loan of sh.1,600,000 at an 

interest rate of 10% per annum. 
 

The corporation tax rate is 30%. 

 

Required: 

(i) The degree of operating leverage and financial leverage for each company.  (4 marks) 

 

(ii) The degree of combined leverage for each company.  (4 marks) 
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(iii) The break-even point (in units) for each company. Comment on the significance of your results.  

           (4 marks) 

 

(iii) The earnings per share (EPS) at the point of indifference between the earnings of the two 

companies.    (4 marks) 

                                                                 (Total: 20 marks) 

 

QUESTION FIVE 

(a) The following information relates to Alpha ltd. and Beta ltd. As at 31December 2006: 

 

    Alpha ltd. Beta ltd. 

    Sh. Sh. 

 Average annual sales  700million 80 million 

 Average annual net income 75 million 8 million 

 Earnings per share  3 2 

 Market price per share  40 19 

 

 Alpha ltd. Intends to acquire Beta ltd through a share exchange. The number of issued ordinary shares of 

alpha ltd. and Beta ltd. were 25 million and 4 million respectively as at 31 December 2006. 

 

 Required: 

 (i) The maximum share exchange ratio that alpha ltd. should offer to the shareholders of Beta ltd. 

without diluting the earnings per share of Alpha ltd.  (3 marks) 

  

 (ii) The premium that shareholders of Beta ltd. would receive using the share exchange ratio in (a) (i) 

above.    (3 marks) 
 

(b) Explain the alternative methods used to value shares of an acquiree company during a merger   

     (8 marks) 
 

(c) Furaha ltd. Had a retained earnings balance of sh.50 million as at 31 December 2006. The company‟s 

desired capital structure comprises 50% equity and 50% debt. 

 

 The cost of each source of capital available to the company is as follows: 

 

 Source of capital marginal cost 

 Retained earnings 15% 

 New equity 16% 

 New debt 13% (net of tax) 

 

 The company is currently analyzing seven investment projects whose details are presented below: 

 

 Investment project Outlay Internal rate of return  

   SH.”000” (IRR) 

  A 8,000 17% 

  B 13,000 16.5% 

  C 9,000 14.8% 

  D 14,000 13.5% 

  E 12,000 12.2% 

  F 7,500 11.1% 

  G 4,200 10.0% 

 

 The company applies the residual dividend policy in its dividend payout decisions. 
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Required: 

 The maximum dividend payable by Furaha ltd.   (6 marks) 

                          (Total: 20 marks) 

…………………………………………………… 

 

December 2006 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) Briefly explain how the arbitrage process may lead to an equilibrium in the financial markets. (4 marks) 

 

(b) Bora manufacturers ltd. Intends to purchase a processing machine costing sh.40 million. The machine is 

expected to have an economic life of two years with no salvage value at the end of its useful life. 

 

 To adjust for risk on this investment, probabilities have been attached to the expected cash flows over the 

two year period, as shown below: 

 

  Year 1  Year 2 

 Cash flow Probability Cash flow Conditional probability 

  Sh.   Sh. 

   12 million 0.2 

 25 million 0.4 16 million 0.3 

   22 million 0.5 

 

   20 million 0.4 

 30 million 0.6 25 million 0.5 

   30 million 0.1 

Additional information: 

 1. The cash flows in year 2 are conditional on the cash flows in year 1. All cash flows have been 

reported on an after-tax basis. 

 2. The cost of capital is 10% 

 3. Ignore depreciation. 

 

 Required: 

 (i) A decision tree of the investment project.  (3 marks) 
 

 (ii) The best possible net present value (NPV) of the project and its probability of occurrence  

     (2 marks) 

 (iii) The worst possible NPV of the project and its probability of occurrence. (2 marks) 
 

 (iv) Expected NPV.   (2 marks) 
 

(v) Advise the management of Bora Manufacturers ltd. On whether the processing machine should be 

purchased    (1 mark) 
 

(c) Highlight the arguments for the use of interest rate swaps in international financial markets. (6 marks) 

                                                 (Total: 20 marks) 
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QUESTION TWO 

(a) Outline the factors that should be considered by a company in determining its target capital structure. 

        (4 marks) 

 

(b) Biashara ltd. is financed by debt and equity. The company is in the process of determining the optimal 

capital structure that will minimize its weighted cost of capital. 

 

 The cost of debt at various levels of leverage is as follows: 

 

 Debt to asset ratio Debt to equity ratio Cost of debt (before tax) 

  0 0 7% 

  0.2 0.25 8% 

  0.4 0.67 10% 

  0.6 1.50 12% 

  0.8 4.0 15% 

 

 Additional information: 

1. The company uses the capital asset pricing model (CAPM) to estimate the cost of equity. 

2. The risk free rate is 5% and the market risk premium is 6%. 

3. The rate of corporate tax is 30% 

4. The unlevered beta is 1.2. 
 

 Required: 

 The company‟s optimal capital structure. 

 

 Note: βL = βu [1+(1-T) (
D
/E)]. 

 

 Where: βL= levered beta. 

  βu = unlevered beta. 

  T  = tax rate. 

  D = market value of debt. 

  E = market value of equity. 
 

(C) Summarize the factors that influence the level of risk diversification in a portfolio (4 marks) 

                                         (Total: 20 marks) 

 

QUESTION THREE 

(a) Multinational corporations (MNCs) should analyze the effects of political risk on their investments in 

developing countries. 

 

 (i) Identify and briefly explain the different forms of political risk. (4 marks) 

 

 (ii) Suggest the measures that MNCs should take to minimize their exposure to political risk.  

    (4 marks) 

 

(b) The current market price per ordinary share of spark international ltd. is sh.29. A call option exists on the 

company‟s shares with an exercise price of sh.26 and with six months to maturity. 

 

 The option can only be exercised on maturity. 

 

 The risk free rate of return is 6% and the variance of the rate of return on the shares is 15% 

 

 Required: 

 Using the black-scholes option pricing model, estimate the value of the call option. (6 marks) 
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 Note: the following values may be useful: 

  Loge    1.1154 = 0.1092 

 

  e
-0.03 = 

0.97 

 

(c) The following balance sheet relates to Mapato ltd. For the year ended 31 October 2006 

   Sh.”000” 

 Assets: 

 Non-current assets 40,000 

 Current assets 20,000 

 Total assets 60,000 

 

 Equity and liabilities: 

 Ordinary share capital (sh.20 par) 10000 

 Retained earnings 14,000 

 16% debentures (sh.100 par) 24,000 

 Current liabilities 12,000 

 Total equity and liabilities 60,000 

 

 Additional information: 

1. The company‟s earnings before interest and tax average sh.16 million per annum. 

2. The current market price per share is sh.90. 

3. The corporation tax rate is 30% 

4. All the company‟s profits are distributed as dividends. 

 

Assume that all the assumptions of the traditional theory of capital structure hold, except for the existence 

of taxes. 

 

Required: 

The company‟s market-weighted average cost of capital using the traditional theory.  (6 marks) 

                                 (Total: 20 marks) 

 

QUESTION FOUR 

(a) Briefly explain the pecking order theory of capital structure. (3 marks) 

 

(b) Jaribu ltd. has in issue a convertible debenture with a coupon rate of 12%. Each sh.100 debenture may be 

converted into 20 ordinary shares at any time before the 5-year maturity period of the debentures. Any 

remaining debentures on maturity will be redeemed at sh.100 each. 

 

 Investors require a rate of return of 8% per annum on a five year debt security. 

 

 Required: 

 Should the debenture holders convert their debentures into shares if the current market price per share is: 

 

 (i) sh.4?   (3 marks) 

 (ii) sh.5?   (2 marks) 

 (iii) sh.6?   (2 marks) 

 

(c) The return of Malibu oil ltd`s ordinary shares has been found to be influenced by three risk factors; X1, X2 

and X3. 
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These factors are explained below: 

 

 X1 – an index reflecting energy costs. 

 X2 – changes in the level of stock market prices. 

 X3 – changes in the exchange rate of the local currency relative to other currencies: 

 

 The risk premium and the beta associated with each risk factor are shown below: 

 

 Risk factor Risk premium Beta 

 X1  4.5% 0.7 

 X2  7.5% 0.3 

 X3  11.25% 1.1 

 

 The risk free rate is 8.25%. 

 

 Required: 

 Determine the required rate of return on Malibu oil ltd. `s shares using: 

 

(i) Arbitrage pricing model (APM)   (3 marks) 

(ii) Capital asset pricing model (CAPM)   (3 marks) 

 

(d) Highlight the main arguments for mergers and acquisitions.  (4 marks) 

                                                (Total: 20 marks) 

 

QUESTION FIVE 

(a) Write short notes on the following international financial institutions: 

  

 (i) International bank for reconstruction and development (IBRD)  (5 marks) 

 

 (ii) International monetary fund (IMF)   (5 marks) 

 

(b) An investor has an investment fund of sh.1,000,000. He intends to apportion this fund to two securities, A 

and B, as follows; sh.200,000 in security A and sh.800,000 in security B. 

 

The return on each security is dependent on the state of the economy as shown below: 

 

 State of economy Probability Return on security A  Return on security B 

 Boom  0.4 18% 24% 

 Average 0.5 14% 22% 

 Recession 0.1 12% 21% 

 

 Required: 

 (i) Expected return on the portfolio.   (2 marks) 

 (ii) Standard deviation for each security.   (4 marks) 

 (iii) Correlation coefficient between security A and security B.  (2 marks) 

 (iii) Assess the extent of risk diversification by the investor through the portfolio holding. (2 marks) 

                                    (Total: 20 marks) 

    ………………………………………………… 

 

 

Page 67

Get answers and Solution to these questions at                www.buy.kasnebnotes.co.ke



    

June 2006 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) “Since capital investments provide a return over a period of several years, it is important to consider the 

likely effects of inflation in assessing the financial viability of an investment”. 

 

 Explain the above statement. (4 marks) 

 

(b) Microlin ltd. Intends to introduce a new product, T, into the market. This will require an investment in 

machinery costing sh.2,400,000. the machinery is estimated to have a useful life of four years with a 

terminal value of sh.600,000 

 

Additional information: 

1. Capital allowances will be provided on the machinery at a rate of 12.5% per annum on a reducing 

balance basis. At the end of the useful life of the machinery, a balancing charge or allowance will 

arise equal to the difference between the scrap proceeds and the tax written down value. 

2. Annual profits from the sale of product T will amount to sh.960,000 before deducting depreciation 

on machinery. 

3. Corporation tax at a rate of 30% is payable one year after the end of the accounting year in which 

the tax was charged. 

4. An investment in working capital amounting to sh.240,000 will be required on commencement of 

the project. This amount will however be recovered on completion of the project. 

5. The start of the project coincides with the start of the company‟s financial year. 

6. The cost of capital is 15% per annum. 

 

Required: 

Using the net present value (NPV) approach, advice the management on the suitability of the project. 

  (10 marks) 

 

(c) The management of Sawara ltd., a medium-sized company, is concerned that the company has continued 

to incur high labour and material costs in its production process. The management is therefore considering 

the acquisition of an equipment that will generate savings in labour and material costs. 

Additional information: 

 

1. The equipment will cost sh.1,050,000 and will have a useful life of five years with a nil scrap 

value. 

2. Annual savings in labour and material costs will amount to sh.150,000 and sh.60,000 respectively. 

3. The forecast annual rates of inflation for the next five years are as follows: 

Wage costs 10% 

Material costs 5% 

General prices 6% 

4. The cost of capital of the company, in money terms, is 15% 

 

 Required: 

 Evaluate the project using the net present value (NPV) method and advise the management accordingly. 

    (6 marks) 

    (Total: 20 marks) 
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QUESTION TWO 

(a) Briefly explain the following capital structure theories: 

 

 (i) Traditional theory.   (3 marks) 

 (ii) Modigliani and miller (MM) with taxes theory.  (3 marks) 

 

(b) Altd. and Bltd. Are identical in all respect with the exception that A ltd. is unlevered while B ltd. has 

issued a sh.10 million 5% corporate bond. 

 

 The earnings before interest and tax (EBIT) for the two companies are sh.2 million per annum and the cost 

of equity of A ltd. is 10%. 

 

 Required 

 Using the Modigliani and Miller (MM) without taxes model, answer the following: 

 

 (i) Determine the value of each company.  (2 marks) 

 (ii) Determine the cost of equity of B ltd.  (2 marks) 

 (iii) Determine the weighted average cost of capital of each company.  (2 marks) 

 (iv) Suppose the value of Altd. Is sh.20million and that of B ltd. Is sh.22 million, determine the 

arbitrage opportunity available to a shareholder who owns 10% of the ordinary shares in B ltd. 

  (4 marks) 

  

(c) Solei ltd. expects to pay a dividend per share (DPS) of sh.1.2 for the year ending 31 December 2006. The 

annual growth rate in DPS is expected to be 15% per annum for the period between 1 January 2006 and 31 

December 2010. Thereafter, the growth rate is expected to be 10% per annum. 

 

 The required rate of return on investments is 15% per annum. 

 

 Required: 
 Calculate the value of an ordinary share in Solei ltd. as at 1 January 2006. (4 marks) 

    (Total: 20 marks) 

 

QUESTION THREE 

(a) “Retained earnings represent a cost-free source of capital to a company”. 

 

 State, giving reasons, whether you agree with the above statement. (6 marks) 

 

(b) Myers ltd. Is financed 75% by equity and 25% by debt. The management of the company intends to 

maintain this financing mix. 

 

 The marginal cost of debt and equity at different levels of additional finance are shown below: 

 

 Source of finance Amount Marginal cost (per annum) 

 Debt:  up to sh.1, 000,000 16% 

   Next sh.1, 000,000 18% 

 Equity:  up to sh.2, 500,000 20% 

   Next sh.2, 500,000 25% 

   Over sh.5, 000,000 30% 

 Required: 

 Calculate the marginal cost of capital of the company at all the critical levels of additional financing. 

 (Ignore taxation)   (8 marks) 
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(c) The summarized balance sheet of Katito ltd. As at 31 December 2004 is presented below: 

   Sh. Sh. 

 Fixed assets 5,000,000 ordinary share capital 8,000,000 

 Current assets 2,500,000 

 Profit and loss account balance   500,000 

    8,000,000   8,000,000 

 

 Additional information: 

1. the company‟s profit and loss account for the year ended 31 December 2005 reflected a net profit of 

sh.1000000 before providing for dividend. 

2. The net realizable value of fixed assets as at 31 December 2005 was sh.7500000. These values were 

however not incorporated in the books of account. 

3. There are no additions or disposals of fixed assets during the year ended 31 December 2005. 

 

Required: 

Determine the maximum amount of dividend (if any), that the company can declare for the year ended 31 

December 2005. Justify your answer.     (6 marks) 

                   (Total: 20 marks) 

 

QUESTION FOUR 
The balance sheet of two companies, A ltd. And Bltd., as at 31 December 2005 are shown below: 

      Altd.  Bltd 

      Sh.”000”  sh.”000” 

Ordinary share capital (sh.10 par) 10,000 5,000 

Preference share capital 2,000    - 

Share premium account    - 200 

Profit and loss account balance 3,800 400 

10% debentures  1,500 500 

   17,300 6,100 

 

Fixed assets  12,200 3,500 

Net current assets 5,100 2,600 

   17,300 6,100 

 

Additional information 

1. Altd. Is proposing to acquire B ltd. By means of an issue of its own ordinary shares in exchange for the 

ordinary shares of B ltd. 

2. The management of the two companies have availed the following information to assist in the takeover: 

   A ltd. B ltd. 

 Maintainable annual profits after tax attributable to equity holders‟sh.2,400,000 sh.1,500,000 

 Current market price per ordinary share sh.24 sh.27 

 Current earnings per share sh.2.4 sh.3.0 

 Price earning ratio 10 9 

3. The corporation tax rate is 30% 

 

Required: 

(a) Using the following valuation bases, and assuming no synergy effects accrue from the takeover, determine 

the total number of shares the directors of A ltd. will have to offer to shareholders of B ltd. 

 

 (i) Net asset value basis.    (3 marks) 

 (ii)  Earning per share basis.    (3 marks) 

 (iii) Market value basis.    (3 marks) 

 (iv) Present value of future earnings basis.    (3 marks) 
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(b) Assume the combined entity will earn annual profits attributable to equity holders of sh.4,485,000 and that 

the combined price earning ratio will be 12. determine the market value of A ltd`s ordinary shares after the 

takeover.   (3 marks) 

 

(c) Explain why the directors of A ltd. Might have preferred growth by takeover over growth by asset 

expansion.   (5 marks) 

    (Total: 20 marks) 

 

QUESTION FIVE 

(a) Explain the following financial derivatives used in the international financial markets:    

 

(i) Futures contracts. (3 marks) 

(ii) Forward contracts. (3 marks) 

(iii) Options. (3 marks) 

(iv) Swaps. (3 marks) 

 

(b) An investor expects a risk-free rate of return (rf) of 4.5% per annum and a market rate of return (rm) of 

14.5% per annum. 

 

 Two stocks, A and B, have the following betas and estimated returns: 

 

 Stock  Beta Estimated returns 

 A  1.2 16% 

 B  0.8 14% 

 

 Required: 

 (i) Assuming stock A and stock B are fairly valued under the capital asset pricing model (CAPM), 

use a graph to indicate the points where the stocks would be plotted on the security market line 

(SML)   (6 marks) 

 (ii) State whether stock A and stock B are undervalued or overvalued. (2 marks) 

                                                      (Total: 20 marks) 

 

    ………………………………………………………….. 

 

 

December 2005 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

Question One 

 

(a) Two firms, A Ltd and B Ltd. operate in the same industry.  The two firms are similar in all aspects except 

for their capital structures. 

 

The following additional information is available: 

 

1.    A Ltd is financed using Sh.100 million worth of ordinary shares. 

2. B Ltd is financed using Sh.50 million in ordinary shares and Sh.50 million in 7% debentures 

3. The annual earnings before interest and tax are Sh.10million for both firms.  These earnings are 

expected to remain constant indefinitely. 

4. The cost of equity in A Ltd is 10% 

5. The corporate tax rate is 30% 
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Required: 

Using the Modigliani and Miller (MM) model, determine the following: 

 

i)   The market value of A Ltd. and B Ltd.                                                                               (6 marks) 

ii)   The weighted average cost of capital of A Ltd and B Ltd.                                                 (4 marks) 
 

(b) Proton Ltd. has a capital structure consisting of Sh.250 million in 12% debentures and Sh.150 million in 

ordinary shares of Shs.10 par value.  The company distributes all its net earnings as dividends. 
 

 The finance manager of Proton Ltd. intends to raise an additional Sh.50million to finance an expansion 

programme and is considering three financing options. 

 

  Option one:  Issue an 11% debenture stock 

 Option two:   Issue 13% cumulative preference shares 

 Option three:  Issue additional ordinary shares of Sh.10 par value. 

 The corporation tax rate is 30%. 

 Required: 

 Calculate the earnings before interest and tax (EBIT) and the earnings per share (EPS) at the point of 

indifference between the following financing options: 

 

(i)    Option one and option three                                                (6 marks) 

 (ii)    Option two and option three                                                                         (4 marks) 

                                                                                                                                   (Total: 20 marks) 

 

Question Two 

a) Distinguish between one-period rationing and „multi-period rationing‟ with specific reference to capital 

rationing              (4 marks)    

                                                                                                                      

b) The management of Dawanu Ltd. is evaluating five investment projects whose expected cash flows are 

shown below: 

 

Project 1 January 2006 31 December 2006 31 December 2007 31 December 2008 

 Sh „000‟ Shs „000‟ Sh. „000‟ Sh. „000‟ 

A (60,000) 30,000 25,000 25,000 

B (30,000) (20,000) 25,000 45,000 

C (40,000) (50,000) 60,000 70,000 

D 0 (80,000) 45,000 55,000 

E (50,000) 10,000 30,000 40,000 
 

Additional Information: 

1. None of the five projects can be delayed or bought forward. 

2. All the projects are divisible 

3. The required rate of return on investments is 15% 
 

Required: 

(i) Using the net present value (NPV) approach, determine which project(s) should be undertaken assuming 

capital will be available when required.                                                          (8 marks) 

(ii) Using the NPV approach, determine which project(s) should be undertaken assuming capital available on 1 

January 2006 is limited to Sh.100 million                           (8 marks) 

                                                                                                                                             (Total: 20 marks) 
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Question Three 

a) With the help of a diagram between an efficient portfolio and an optimum portfolio  (6 marks) 

 

b)    Mr. K. Patel has an investment capital of Sh.1, 000,000.  He wishes to invest in two securities, A and B in 

the following proportion; Sh.200, 000 in security A and Sh.800, 000 in security B. 

 

 The returns on these two securities depend on the state of the economy as shown below: 

  

State of Economy Probability Returns on 

Security A 

Returns on  

Security B 

Boom 0.4 18% 24% 

Normal 0.5 14% 22% 

Recession 0.1 12% 21% 

    

Required: 
(i)   Compute the expected portfolio return                                                                              (2 marks) 

(ii)   Determine the correlation coefficient between security A and security B                         (6 marks) 

(iii)   Calculate the portfolio risk                (2 marks) 

(iv)  Calculate the reduction in risk due to portfolio diversification            (4 marks) 

                                                         (Total: 20 marks) 

Question Four 

(a)   In the context of international financial management: 

 

 (i)    Distinguish between Euro notes and Eurobonds.                                 (4 marks) 

 (ii)    Explain the factors which influence the decision on whether to borrow in a domestic currency or in 

a foreign currency.                                                        (6 marks) 

 

(b)   Describe the main types of agency relationships in financial management indicating the potential areas of 

conflict of interest                                                                        (10 marks) 

                                                             (Total: 20 marks) 

 

QUESTION FIVE 

a)   Securitisation may be the wave for the future, as it appears to be a more efficient mechanism for bringing 

borrowers and investors together than traditional financing through intermediaries (Fabozzi and 

Modigliani). 

 

 Required: 

(i)    Explain the term “securitisation”.                                                                              (4marks) 

(ii)    Discuss the benefits that may accrue to a company that uses securitisation in preference to traditional 

financing through intermediaries.                                                                              (6 marks) 

 

 (b)    The management of Viwanda Ltd. is in the process of evaluating the company‟s dividend policy. 

 

  The following information is provided: 

1. The company paid Sh.1.2 million as dividends in the last financial year. 

2. The profit after tax for the last financial year was Sh.3.6 million. 

3. The company has not issued any preference shares 

4. The earnings growth rate has been consistent at 10% per annum for the past ten years. 

5. The expected profit after tax for the current financial year is Sh.4.8 million 

6. The company anticipates investment opportunities worth Sh.1.4 million in the current financial year. 

7. The capital structure of the company consists of sixty per cent equity and forty per cent debt. 
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Required: 

Determine the optimal total dividends for the current financial year if the company wishes to adopt each of 

the following independent dividend policies 

 

(i)   Pure residual policy                   (2 marks) 

(ii)   Constant payout ratio policy                  (2 marks) 

(iii)   Stable predictable dividend policy, the growth rate being equivalent to the earnings growth rate.     

            (2 marks) 

(iv)   Regular plus extra dividend policy.  The regular dividends would be based on the long run growth 

rate of earnings while the extra dividends would be based on the residual income  (4 marks) 

 (Total: 20 marks) 

…………………………………………………. 

June 2005 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

Question One 

 

(a)    Creation of shareholder value has become a generally accepted corporate objective.  To facilitate the 

realization of this objective, value based management systems (VBMs) which integrate finance theory and 

strategic management thinking have been developed by scholars. 

 

 Required: 
 i)   Explain the main determinants of shareholder value                (6 marks) 

(ii)   Discuss tile factors that have stimulated the increased interest by companies in value based 

management systems                                                                                                 

 (8 marks) 

(b)     Madawa Company Limited, a public quoted company, intends to raise additional share capital through a 

rights issue.  The number of issued ordinary shares currently stands at 100 million shares.  Each 

shareholder will have a right to purchase one share for every five shares currently held.  The current 

market price per share is Sh.60 while the rights price has been fixed at Sh.50 per share. 

 

Required: 

 

i)   Calculate the theoretical value of a right in Madawa Company Limited                      (2 marks) 

ii)   Determine the theoretical ex-rights price of a share in the company      (4 marks) 

                                                                         (Total: 20 marks) 
 

Question Two 
 

Ridges Company Ltd. is the process of preparing its capital budget for the financial year ending 30 June 2005.  The 

company‟s capital structure as at 1 July 2004 and which the management considers as optimal is presented below: 

 

 Sh. Million 

Ordinary share capital (Sh.20 par) 100 

Preference share capital (Sh.10 par) 160 

Share premium 150 

Retained earnings 550 

Long term debt 640 
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The following additional information is available: 

 

1.   The company can borrow a Sh.200 million long to on loan at a pre-tax cost 13.  Any additional debt can be 

obtained at a pre-tax cost of 16%. 

2.   The company can raise Sh.400 million through a bond issue.  Each bond will have a face value of Sh.1,000 

but will be issued at Sh.687.  The coupon rate on the bonds will be 10% with maturity period of twenty 

years. 

3.     Preferred stock can be-issued at a pre-tax cost of 16.5%. 

4.     The company expects to generate Sh.700 million in net income before tax for the year ending 30 June 

2005 

5. The average annual growth rate in dividends is 5.5% and this rate is expected to continue into the 

foreseeable future.  The company expects to pay an ordinary dividend per share of Sh.10 for the year 

ending 30 June 2005. 

6.   The following investment proposals will be available to the company in the year ending 30 June 2005. 

 

 

Project Outlay 

(Sh.millions) 

Internal rate of 

return (IRR) 

A 700 17% 

B 650 16% 

C 500 15% 

D 400 14.2% 

E 120 13% 

F 80 10.9% 
 

7.   Assume a corporation tax rate of 30% 
 

Required: 
 

a)  Determine the cost of capital for each of the following sources of finance: 
 

(i) Long-term loan                                                                    (2 marks) 

(ii) Bonds                                         (2 marks) 

(iii) Additional Debt                    (2 marks) 

(iv) Preference share capital                                                                                             (2 marks) 

(v) Retained earnings                                                                                                      (2 marks) 

 

(b)   Using the marginal cost of capital (MCC) and internal rate of return (IRR) schedules, determine the 

investment project(s) that should be accepted for the year ending 30 June 2005.     (10 marks) 

                                                                                                                                 (Total: 20 marks) 

QUESTION THREE 

 

(a) Briefly explain the importance of sensitivity analysis, with specific reference to investment appraisal 

under uncertainty. 

(b) Company is considering whether it is necessary to purchase equipment to increase its production and sales 

volumes.  The equipment costs Sh.500, 000 and has a useful life of three years after which it can be sold 

as scrap for Sh.80, 000.  For each of the three years of usage, the equipment is expected to increase both 

sales revenue and operating costs by Sh.600, 000 and Sh.390, 000 respectively. The company's cost of 

capital is 10% 

 

Required: 

(i)   Calculate the project‟s net present value (NPV)                           (2 marks)  

(ii)   Compute the percentage changes required in the cost of the equipment, the scrap value and the 

sales revenue for the project to be rejected.                                                       (6 marks) 
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(c)    Mr. Charles Kabazi has a capital of Sh.1, 000,000 which he wishes to invest in three sectors of the 

economy; agriculture, service and manufacturing.  The funds will be allocated as follows: 

  

Sector Amount 

invested 

 Sh. 

Agriculture 400,000 

Service 200,000 

Manufacturing 400,000 

 

Details on the possible future economic states, their probabilities of occurrence and the expected return for 

each of the sectors are presented below: 

 

 

Required: 

 

(i)   Determine the risk associated with the investment in each of the three sectors above.        

           (6 marks) 

(ii)   Determine the expected portfolio return                                                                  (2 marks) 

                                                                                                    (Total: 20 marks) 

 

QUESTION FOUR 

(a) Distinguish between the residual dividend theory‟ and clientele preference theory as they relate to dividend 

policy formulation                                                                                (4 marks) 

 

(b)   Discuss the Modigliani and Miller‟s (MM) dividend irrelevancy proposition                    (10 marks) 

 

(c)    Huge Ltd. is contemplating a complete share acquisition of Tiny Ltd.  Huge Ltd is offering three of its 

shares for every two shares of Tiny Ltd.  The data is relating to the two companies are shown below: 

  

 Huge Ltd Tiny Ltd 

 Sh. Sh. 

Earnings to ordinary shareholders 5,190,360 2,340,000 

Earnings per share (EPS) 14.80 29.25 

Market price per share (MPS) 222 322 

 

The corporate tax rate is 30% 

 

Required: 

 

(i)     Determine the maximum offer price that will not dilute the EPS of Huge Ltd.       (2 marks) 

(ii)   Compute the premium payable to the shareholders of Tiny Ltd                               (2 marks) 

(iii)   Given that the growth rate of Huge Ltd. is 8% while that of Tiny Ltd is 12%, compute the 

combined growth rate of the two companies                                 (2 marks) 

                                                                                             (Total: 20 marks) 

Possible Future Probability of 

Occurrence 

Expected return for each sector (%) 

Economic state  Agriculture Service Manufacturing 

Recession 0.1 16 14 3 

Average 0.4 14 19 5 

Boom 0.5 20 22 6 
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QUESTION FIVE 

(a)   Define the following types of foreign currency risk exposure: 

 

    (i)   Transaction exposure                                        (2 marks) 

   (ii)   Translation exposure                             (2 marks)  

   (iii)   Economic exposure                                                                                      (2 marks) 

 

(b)   Explain two ways in which a firm can hedge against a currency transaction exposure     (6 marks) 

 

(c)    Cotts Importers Ltd, a company based in Kenya, has been a regular importer of goods from the United 

States of America (USA).  The Kenyan currency is the Shilling (Sh.) while the USA currency is the dollar 

($) on1 June 2004, Cotts Ltd imported a consignment of goods from a supplier in the USA.  The 

consignment cost $1,000 and was payable on 1 September 2004. 

 

The spot rates on 1 June and 1 September 2004 were as follows: 

 

 $/Sh. 

1 June 0.007 

1 September 0.006 

 

September 2004 shilling futures were trading at $0.00625/Sh (contract size Sh.1, 194,000) as at 1 June 

2004. 

 

Required: 

 

(i)   Show how Cotts Ltd could have used a futures contract as a hedging tool, indicating any hedging 

profit or loss.                                                                                                              (6 marks) 

( ii)  How many futures contracts would Cotts Ltd. have purchased if the contract size was Sh.2 

million?            (2 marks)                                                                    

                                                                                                                                           (Total: 20 marks)                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                         

                                        ……………………………………………………………………….………………. 

December 2004 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) As an expert in the financial management of public projects, you have been requested to present a seminar 

paper on “Project Management in the Public Sector; challenges and dilemmas.” 

 

Required: 

Explain the main issues you would address in your paper under the following headings: 

(i) Phases of a public project.       (4 marks) 

(ii) Planning and control techniques for a public project.    (4 marks) 

(iii) Causes of failure of public projects.      (2 marks) 

 

(b) Savanna Limited has a cost of equity of 10%.  Currently it has 250,000 ordinary shares which are quoted at 

the Stock Exchange of Sh. 120 per share.  The company‟s earnings per share is Sh. 10 and it intends to 

maintain a dividend payout ratio of 50% at the end of the current financial year. 

 

The expected net income for the current year is Sh. 3 million and the available investment proposals are 

estimated to cost Sh. 6 million. 
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Required: 

(i) Using the Modigliani and Miller (MM) model, show that the payment of dividends does not affect 

the value of the firm.        (8 marks) 

(ii) What are the assumptions inherent in the MM model?    (2 marks) 

(Total: 20 marks) 

 

QUESTION TWO 

(a) “Total Risk Management (TRM) will become a common term in finance just like Total Quality 

Management (TQM) has in production and marketing.”  (Professor Andrew W. Lo. 1999). 

 

Required: 

(i) Define risk management as used in finance.           (2 marks) 

(ii) Discuss reasons why risk management might increase shareholders wealth.   (8 marks) 

 

(b) Kasuku Limited has set aside Sh. 40 million for investments as on 1 January 2004.  Five proposals are 

presented to the company‟s board of directors by the finance manager as shown below: 

 

Project Initial cost 

Sh. „000‟ 

Annual revenue 

Sh. „000‟ 

Annual fixed costs 

Sh. „000‟ 

Life of project 

(years) 

A 

B 

C 

D 

E 

10,000 

30,000 

15,000 

12,000 

18,000 

20,000 

30,000 

18,000 

17,000 

8,000 

5,000 

10,000 

6,000 

8,000 

2,000 

3 

5 

4 

10 

15 

 

Additional information: 

1. Projects D and E are mutually exclusive. 

2. Each project is divisible and can only be undertaken once. 

3. Variable costs are 40% of annual revenue. 

4. All cash flows will occur at the end of the year commencing 31 December 2004. 

5. Cost of capital is 10% (ignore tax). 

 

Required: 

(i) Determine the optimal allocation of the Sh. 40 million amongst the five projects.   (8 marks) 

(ii) What is the net present value resulting from this allocation?   (2 marks) 

(Total: 20 marks) 

 

QUESTION THREE 

(a) The board of directors of Masii Limited is divided on whether to adopt a high or low dividend payout 

policy.  One of the directors has quoted the „dividend discount model‟ as proof that the „higher the 

dividends, the higher the share price.‟ 

 

Required: 

(i) Highlight two arguments for and against a high dividend payout policy.     (4 marks) 

(ii) Using a constant growth dividend discount model, evaluate the director‟s statement.(6 marks) 

 

(b) Leo Plastics Limited is an all equity financed company.  It had three strategic business divisions as on 1 

January 2004: 
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1. The Polythene division 

It has a capital of Sh. 8 million and is expected to produce returns of 11% on capital for the next five 

years.  Thereafter, it will produce returns equal to the required rate of return of 14% for its risk level. 

 

2. The Paper division 

It has a capital of Sh. 12 million and a planning horizon of 10 years.  During this planning horizon, it 

will produce a return of 12% on capital compared with a risk adjusted required rate of return of 15%. 

 

3. The Container division 

It has a capital of Sh. 12 million and a planning horizon of 7 years.  The required rate of return on 

capital is 16% compared with the anticipated actual rate of 17% over the first seven years. 

 

Required: 

Calculate the present value of the company as on 1 January 2004.   (10 marks) 

          (Total: 20 marks) 

 

QUESTION FOUR 

(a) Globalisation has resulted in several organizations engaging in corporate alliances and the establishment of 

several trading blocks.  The advent of e-commerce has enabled companies to greatly expand their markets. 

 

Required: 

Identify and elaborate on five factors that complicate financial management in multi-national firms. 

           (10 marks) 

 

(b) High speed Electronics Limited has taken delivery of 50,000 electronic devices from an American 

company.  The seller is in a strong bargaining position and has priced the devices in American dollars at 

$12.00 each. 

 

High speed Electronics Limited has been granted three months credit.  Assume that interest rates in 

America are 3% per quarter (three months).  High speed electronics Limited has all its money tied up in its 

operations but it could borrow in dollars at 3% per quarter if necessary. 
 

Foreign exchange rates 

 US$ = Sh. 1 

Spot   0.013 

Three month forward 0.0154 
 

A three month dollar call option for US$ 600,000 is available at a premium of US$15,000. 
 

Required: 

(i) Using suitable computations, illustrate two hedging strategies available to High speed Electronics 

Limited.         (8 marks) 

(ii) Distinguish between a currency option and a currency swap.   (2 marks) 

          (Total: 20 marks) 

 

QUESTION FIVE 

(a) With reference to the measurement of portfolio risk, distinguish between Portfolio theory and the Capital 

Asset Pricing Model (CAPM).        (4 marks) 

(b) The following details relating to Bidii Limited show how the level of gearing affects the company‟s cost of 

debt. 
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Gearing level (%): 10 20 30 40 50 60 70 

Pre-tax cost of debt (%): 6.5 7.1 7.8 8.5 10 12 15 
  

Required: 

Determine the company‟s optimal capital structure.     (6 marks) 

 

(c) The investment portfolio of Mapeni Limited consists of shares in five companies operating in different 

industries. 

 

Company Amount Invested 

(Sh. million) 

Stock beta 

Coefficient 

A Ltd. 

B Ltd. 

C Ltd. 

D Ltd. 

E Ltd. 

160 

120 

 80 

 80 

 60 

0.5 

2.0 

4.0 

1.0 

3.0 

   

The risk free rate (Rf) is 8%.  The market returns have the following probability distribution for the next period. 

 

Market return % Probability 

10 

12 

13 

16 

17 

0.1 

0.2 

0.4 

0.2 

0.1 

Required: 

(i) Compute the expected return from the market (Rm).   (2 marks) 

(ii) Calculate the beta coefficient for the portfolio (βp).   (4 marks) 

(iii) Determine the equation for the security market line.   (4 marks) 

(Total: 20 marks) 

……………………………………………………………………….………………. 

June 2004 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

The Moon Company Ltd. has issued 10,000,000, Sh. 10 par equity shares which are at present selling for Sh. 30 

per share.  It has also issued 5,000,000 warrants, each entitling the holder to buy one equity share.  The warrants 

are protected against dilution. 

 

(a) The company has plans to issue rights to purchase one new equity share at a price of Sh. 20 per share for 

every four shares held. 

 

Required: 

(i) Calculate the theoretical ex-rights price of Moon Company Ltd.‟s equity shares. (1 mark) 

(ii) The theoretical value of a right of the Moon Company Ltd. before the shares sell ex-rights. 

                (2 marks) 

 

(b) The chairman of the company receives a phone call from an angry shareholder who owns 100,000 shares.  

The shareholder argues that he will suffer a loss in his personal wealth due to this rights issue, because the 

new shares are being offered at a price lower than the current market value. 
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The chairman assures him that his wealth will not be reduced because of the rights issue, as long as the 

shareholder takes appropriate action. 

 

Required: 

(i) Explain whether the chairman is correct.  What should the shareholder do?    (2 marks) 

(ii) A statement showing the effect of the rights issue on this particular shareholder‟s wealth, 

assuming: 

 He sells all the rights. 

 He exercises one half of the rights and sells the other half. 

 He does nothing at all.       (6 marks) 

(iii) Are there any real circumstances which might lend support to the shareholder‟s claim? 

          (3 marks) 

 

(c) As a senior financial analyst of an investment bank, you are charged with the responsibility of estimating 

the expected returns of various securities.  One o the securities you want to estimate is expected return in 

Alpha Steel works Ltd. 

 

You have decided to use arbitrage pricing model and you have derived the following estimates for the 

factor betas and risk premiums. 

 

Factor Beta Risk premiums 

% 

1 

2 

3 

4 

5 

1.2 

0.6 

1.5 

2.2 

0.5 

2.5 

1.5 

1.0 

0.8 

1.2 

 

Required: 

(i) Identify the risk factor for Alpha Steel Works Ltd.                        (2 marks) 

(ii) If the risk free rate is 5%, estimate the expected return on Alpha Steel Works Ltd. (2 marks) 

 

(d) On the basis of a one-factor model, Mwangi assumes that the risk free rate is 6% and the expected return 

on portfolio work unit sensitivity to the factor is 8.5%.  Consider a portfolio of two securities with the 

following characteristics: 

 

Security Factor sensitivity Proportion 

A 

B 

4.0 

2.6 

0.3 

0.7 

 

According to the arbitrage pricing theory, what is the portfolio‟s equilibrium expected return?  

           (2 marks) 

          (Total: 20 marks) 

 

QUESTION TWO 

(a) The management of Wambu Limited wants to make a decision whether to change its policy of purchasing 

raw material stocks. 

 

The current policy is to purchase raw materials monthly, on the last day of each month, for consumption in 

the following month.  Suppliers are paid at the end of the following month – purchases at the end of 

January would be paid for at the end of February. 
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The proposed policy is to purchase raw materials every 3 months; suppliers would then allow an extra 2 

months‟ credit.  The extra cost of stockholding under the proposed policy would be Sh.600,000 per annum. 

 

The decision about which policy to adopt will be made in time to affect purchases at the end of December 

2004, when the cost of materials for January 2005 would be Sh. 20,000,000. 

 

A growth rate of 0.75% per month is expected in purchases into the indefinite future from January 2005 

onwards. 

 

The cost of capital is 1% per month compound. 

 

Required: 

Which policy should be preferred? (Ignore taxation)     (10 marks) 

 

(b) You have just finished reading the budget speech by the Minister of Finance where you came across the 

term “Public Sector Borrowing Requirements.”  What is meant by this term?  (3 marks) 

 

(c) The Minister for Finance has stated that he wants to put a limit to the Public Sector Borrowing 

Requirements.  What difficulties and economic problems are likely to arise due to this? (7 marks) 

(Total: 20 marks) 

 

QUESTION THREE 

Bara Ltd. is contemplating a bid for the share capital of Pwani Ltd. with an intention of buying the whole 

company.  The following data for the two companies have been provided. 

 

 Bara Ltd. Pwani Ltd. 

Number of shares 

Share price 

Latest equity earnings 

3,000,000 

Sh. 150 

Sh. 675 million 

8,000,000 

Sh. 30 

Sh. 80 million 

 

After acquisition, Bara Ltd. intends to sell a division of Pwani Ltd. which accounts for Sh.20 million annually in 

equity earnings. The division does not form part of the core business of the intended group.  The division has a 

current market price of Sh. 50 million. 

 

Bara Ltd.‟s management believes that by introducing better management, earnings of Pwani Ltd. could be 

permanently increased by 25% although the price/earnings multiple will remain the same.  To avoid duplication, 

some of Bara Ltd.‟s own property could be disposed of at an estimated price of Sh. 130 million.  Rationalisation 

costs are estimated at Sh. 100 million, these comprise retrenchment and legal costs among others. 

 

Required: 

(a) Highlight the advantages of growth by acquisition.    (6 marks) 

 

(b) Calculate the effect on the current share price of each company; all other things being equal, of a two for 

ten share offer by Bara Ltd., assuming that Bara Ltd.‟s estimates are in line with those of the market. 

          (10 marks) 

 

(c) Assume that Bara Ltd. is proposing to offer Pwani Ltd.‟s shareholders the choice of a two for ten share 

exchange or a cash alternative.  Giving reasons, advise Bara Ltd. whether the cash alternative should be 

more or less that the current value of the share exchange.     (4 marks) 

(Total: 20 marks) 
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QUESTION FOUR 

(a) The Better Shoe Company is considering a major investment in a new product area, novelty umbrellas.  It 

hopes that this product will become a fashion icon.  The following information has been collected: 

 

1. The project will have a limited life of 11 years. 

2. The initial investment in plant and machinery will be Sh. 10 million and a marketing budget of Sh. 2 

million will be allocated to the first year. 

3. The net cash flows before depreciation of plant and machinery and before marketing expenditure for 

each umbrella will be Sh. 100. 

4. The products will be introduced both in Kenya and Uganda. 

5. The marketing costs in years 2 to 11 will be Sh. 5 million per annum. 

6. If the product catches the imagination of the customers in both countries, then sales in the first year are 

anticipated at 1 million umbrellas. 

7. If the fashion press ignores the new products in one country but become enthusiastic in the other, sales 

ill be 700,000 umbrellas in year 1. 

8. If the marketing launch is unsuccessful in both countries, first year sales will be 200,000 umbrellas. 

      The probability of each of these events occurring is: 

       1 million sales  = 0.3 

       0.7 Million sales  = 0.4 

       0.2 Million sales  = 0.3 

 

9. If the first year is successful in both countries then two possibilities are envisages. 

 Sales levels are maintained at 1 million units per annum for the next 10 years – probability of 0.3. 

 The product is seen as a temporary fad and sales fall to 100,000 units for the remaining 10 years – 

probability of 0.7. 

10. If success is achieved in only one country in the first year, then for the remaining 10 years there is: 

 A 0.4 probability of maintaining the annual sales at 700,000 units and 

 A 0.6 probability of sales immediately falling to 50,000 units per year. 

 

If the marketing launch is unsuccessful in both countries, the production will cease and the project will be 

scraped with zero value.  The annual cash flows and marketing costs will be payable at each year end. 

 

Assume: 

 Cost of capital is 10 per cent per annum. 

 No inflation or taxation. 

 No exchange rate charges. 

 

Required: 

(i) Calculate the expected net present value for the project.                                        (7 marks) 

 

(ii) Calculate the standard deviation for the project.                                         (5 marks) 

 

(iii) If the project produces a net present value of less that Sh. 10 million, the directors fear that the 

company will be vulnerable to a hostile takeover.  Calculate the probability of the firm avoiding a 

hostile takeover.  Assume normal distribution.     (3 marks) 

 

(b) As a firm operating in a mature industry, Orchard Farms is expected to maintain a constant dividend pay 

out ratio and constant growth rate of earnings for the foreseeable future.  Earnings were Sh. 4.50 per share 

in the recently completed fiscal year.  The dividend pay out ratio has been a constant 55% in recent years 

and is expected to remain so.  Orchard Farms‟ return on equity (ROE) is expected to remain at 10% in the 

future, and you require an 11% return on the stock. 
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Required: 

(i) Using the constant dividend growth model, calculate the current value of Orchard Farms‟ share.  

           (2 marks) 

 

(ii) After aggressive acquisition and marketing programme, it now appears that Orchard Farms‟ earnings per 

share and ROE will grow rapidly over the next two years.  Assuming the Orchard Farms‟ dividend will 

grow at a rate of 15% for the next two years, returning in the third year, to the historical growth and 

continuing at the historical rate of the foreseeable future. 

 

Calculate Orchard Farms‟ current market rate.                             (3 marks) 

                               (Total: 20 marks) 

QUESTION FIVE 

(a) The financial manager of Town Ltd. is concerned about the volatility of interest rates.  His company needs 

to borrow Sh. 100 million in six months time for a period of two years.  Current interest rates are 15% per 

year for the type of loan that Town Ltd. needs.  The financial manager does not wish to pay an interest rate 

higher than this.  He is considering using different alternatives.  For the following four alternatives, briefly 

explain how each could be useful to the financial manager: 

 

(i) Forward rate agreement.       (2 marks) 

(ii) Interest rate futures        (2 marks) 

(iii) Interest rate options.       (2 marks) 

(iv) Interest rate swaps.        (2 marks) 

 

(b) (i) What assumption underlies the capital asset pricing model (CAPM)?  (5 marks) 

(ii) Many of the underlying assumptions of CAPM are violated in the real world.  Does that fact 

invalidate the model‟s conclusions?  Explain.     (4 marks) 

 

(c) The managing director of Bicdo Ltd., a company quoted on the Nairobi Stock Exchange (NSE) has asked 

you to assist in estimating the firm‟s equity beta co-efficient.  The firm is all equity financed and listed in 

the NSE five years ago.  You have gathered the following information from the NSE for the last four 

years: 

 

Bicdo Ltd. Nairobi Stock Exchange 

Year  Average 

share Price 

 

Sh. 

Dividend per 

share 

 

Sh. 

Average 

NSE index 

 

 

NSE 

Dividend 

yield 

% 

Return on 

Government 

stock 

% 

2000 

2001 

2002 

2003 

69.5 

73.5 

81.5 

92.5 

3.5 

4.25 

4.5 

5.0 

2,600 

2,990 

3,040 

3,280 

3 

5 

5.5 

5.5 

7 

9 

8 

8 

 

 Required: 

 Use the capital asset pricing model (CAPM) to estimate the beta of Bicdo Ltd.   (3 marks) 

                               (Total: 20 marks) 

……………………………………………………………………….………………. 
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December 2003 
 

Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

(a) In an effort to lower its debtor balances, Zen Manufacturing Ltd. is considering switching from its no 

discount policy to a 2% discount for payment by the fifteenth day.  It is estimated that 60% of Zen‟s 

customers would take the discount and the average collection period is expected to decline from 60 days.  

Company officials project a 20,000 unit increase in annual sales to 220,000 units at the existing price of 

Sh.2, 500 per unit.  The variable cost per unit is Sh.2,100 and the average cost per unit is Sh.2,300. 

 

 If the firm requires a 15% return on investment, should the discount be offered? (11 marks) 

 

(b) The new credit manager of Kay‟s Departmental Store plans to liberalise the firm‟s credit policy.  The firm 

currently generates credit sales of Sh.575, 000,000 annually.  The more lenient credit policy is expected to 

produce credit sales of Sh.750, 000,000.  The bad debt losses on additional sales are projected to be 5 per 

cent despite an additional Sh.15,000,000 collection expenditure.  The new credit manager anticipates 

production and selling costs other than additional bad debt and collection expenses will remain at the 85 

per cent level.  The firm is paying tax at 30% tax bracket, after deductible allowances. 

 

Required: 

If the firm maintains a debtors turnover of 10 times, by how much will the debtors balance increase? 

           (2 marks) 

What would be the firm‟s incremental return on investment?    (5 marks) 

 

Assuming additional stocks of Sh.35, 000,000 are required to support the additional sales, compute the 

after tax return on investment.        (2 marks) 

(Total: 20 marks) 

QUESTION TWO 

(a) The purpose of long-term foreign exchange management is not to cover a given foreign exchange exposure 

by dealings on the forward markets, but to minimize and, if possible, eliminate such exposures before they 

become critical and therefore costly to cover.  (Source: Havard Business Review – March/April 1977) 

 

Comment on the above statement and suggest what actions the financial manager should take in both the 

long and short term in order to reduce risks from foreign currency transactions.  (14 marks) 

 

(b) Your company is proposing to erect a new factory in a foreign country at a cost of 20 million local 

currency units.  Return cash flows will amount to 27 million local currency units per annum and will be 

spread over five years. 

 

What actions would you take to preserve the profitability of this venture in terms of your home currency? 

           (6 marks) 

           (Total: 20 marks) 
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QUESTION THREE 

The finance director of Benga Ltd. wishes to find the company‟s optimal capital structure.  The cost of debt varies 

according to the level of gearing of the company as follows: 

 

Percentage debt Pretax cost of debt 

10 

20 

30 

40 

50 

60 

70 

6.5% 

7.1% 

7.8% 

8.5% 

10% 

12% 

15% 

 

The company‟s ungeared equity beta (asset beta) is 0.85.  The risk free rate is 6% per annum and the market return 

is 14% per annum.  Corporate taxation is at the rate of 30% per year. 

 

Required: 

(a) Estimate the company‟s optimal weighted average cost of capital.   (10 marks) 

 

(b) Recommend whether or not the company should adopt the optimal capital structure identified in (a) above 

explain the factors that might influence the capital structure decision.   (10 marks) 

           (Total: 20 marks) 

 

QUESTION FOUR 

(a) Gold star Manufacturing Limited is evaluating an investment opportunity that would require an outlay of 

sh.100 million.  The annual net cash inflows are estimated to vary according to economic conditions. 

  

Economic conditions Probability Cash flow 

Sh. million 

Very good 

Good 

Fair 

Poor 

.10 

.45 

.30 

.15 

35 

28 

24 

18 
 

 The firm‟s required rate of return is 14 percent.  The project has an expected life of six years. 

 

Required: 

 Compute the expected net present value (NPV) of the proposed investment.  (5 marks) 

 

(b) Pwani Limited is planning advertising campaigns in three different market areas.  The estimates of 

probability of success and associated additional profits in each of the three markets are provided below: 

 

 Market 1 Market 2 Market 3 

 Profit 

Sh. 

Profitability 

Sh. 

Profit 

Sh. 

Profitability 

Sh. 

Profit 

Sh. 

Profitability 

Sh. 

Fair 

Normal 

Excellent 

10,000 

18,000 

25,000 

.40 

.50 

.10 

5,000 

8,000 

12,000 

.20 

.60 

.20 

16,000 

20,000 

25,000 

.50 

.30 

.20 
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Required: 
 

(i) Compute the expected value and standard deviation of profits resulting from advertising 

campaigns in each of the market areas.      (5 marks) 

 

(ii) Rank the three markets according to riskiness using the coefficient of variation. (2 marks) 

 

(c) Rugongo Ltd. is an ungeared company operating in the processed food industry.  The company is planning 

to take over Sauce Ltd. but is unsure on how to value its net assets.  Rugongo Ltd.‟s analysts have 

assembled the following information: 

 

1. Sauce Ltd.‟s balance sheet as at 30 September 2003 

  

 Sh.‟000‟ Sh.‟000‟ 

Fixed assets 

Current assets: 
     Stock 

     Debtors 

     Cash 

Current liabilities: 
     Creditors 

     Bank overdraft 

Net current assets 

 

 

Financed by: 
Issued share capital (Sh.10 par value) 

Profit and loss account 

Shareholders funds 

 

 

  40,000 

  80,000 

     - 

 

100,000 

  30,000 

140,000 

 

 

 

 

 

 

 

 (10,000) 

130,000 

 

 

100,000 

  30,000 

130,000 

 

  

In its most recent trading period ended 30 September 2003, Sauce Ltd.‟s sales were Sh.500,000,000, but after 

operating costs and other expenses including a depreciation charge of Sh.20,000,000, its profit after tax was 

Sh.20,000,000.  This figure includes an extraordinary item (sale of property) of Sh.5, 000,000.  The full year‟s 

dividend was Sh.5, 000,000. 
 

Sauce Ltd. has recently followed a policy of increasing dividends by 12% per annum.  Its shareholders require a 

return of 17%. 
 

The price earnings ratio of Rugongo Ltd. is 14 times and that of Sauce Ltd. is 8 times. 

 

More efficient utilization of Sauce Ltd.‟s assets could generate operating savings of Sh.5, 000,000 per annum after 

tax. 

 

Required: 

(i) Current market value of Sauce Ltd.‟s share.      (2 marks) 

(ii) Explain why the market value might differ from the book value.    ( 2 marks) 

(iii) A company experiencing ordinary growth has high liquidity and much unused borrowing capacity. 

            (2 marks) 

(iv) The value of Sauce Ltd. using the discounted cash flow method.    (2 marks) 

           (Total: 20 marks) 
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QUESTION FIVE 

(a) For each of the companies described below, explain which one you would expect to have a medium, `high 

or a low dividend payout ratio: 

 

(i) A company with a large proportion of inside ownership, all of whom are high income individuals. 

           (1 mark) 

(ii) A growth company with an abundance of good investment opportunities.  (1 mark) 

(iii) A company experiencing ordinary growth has high liquidity and much unused borrowing capacity.

           (1 mark) 

(iv) A dividend-paying company that experiences an unexpected drop in earnings from the trend. 

           (1 mark) 

(v) A company with volatile earnings and high business risk.   (1 mark) 

 

(b) Highlight the limitations of the following methods of dealing with risk in capital budgeting: 

 (i) Simulation analysis.        (3 marks) 

 (ii) Sensitivity analysis.        (3 marks) 

 

(c) The following data currently exist for the ordinary shares of four companies quoted on a stock exchange 

for the period between 1 July 1998 to 1 July 2003. 

  

Ordinary shares Total number of 

shares 

Market price 

1 July 1998 

Sh. 

Market price 

1 July 2003 

Sh. 

Percentage 

Change in price 

% 

Mashambani 

Viwandani 

Uchukuzi 

Huduma 

60,000,000 

20,000,000 

90,000,000 

50,000,000 

30 

45 

25 

65 

45 

80 

85 

70 

50 

70 

240 

8 

 

During the same time period (1 July 1998 to 1 July 2003), the four companies: 

Issued no additional shares 

Had no stock dividends or split 

Paid no cash dividend. 

 

Required: 

 (i) A four-stock index that is value-weighted.     (3 marks) 

 (ii) A four-stock index that is price-weighted.     (3 marks) 

 (iii) A four-stock index that is equally weighted.     (3 marks) 

           (Total: 20 marks) 

……………………………………………………………………….………………. 

 

 

June 2003 
Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 

 

QUESTION ONE 

 

(a) The Development Company of Kenya Ltd. has operated very successfully over the past few years despite 

the adverse economic situation.  As a result, the company has a good liquidity position and a relatively 
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advantageous stock exchange valuation.  The chairman of the company has suggested that because of this, 

it should look for growth through a vigorous acquisition policy. 

 

Required: 

Prepare a memorandum outlining the points which should be included in an acquisition strategy paper to 

be presented for discussion in the next board meeting.     (10 marks) 

 

(b) Two relatively small companies, Elgon Company Ltd. And Kilima Company Ltd., have decided in 

principle to merge so that they can complete more effectively with larger companies.  The boards of 

directors of the two companies have decided that a scheme of amalgamation should be drawn by the end of 

September 2003 based on the following agreed figures: 
  

 Elgon Company Ltd. 

Sh. 

Kilima Company 

Ltd. 

Sh. 

Net assets 

Share capital: 

(Ordinary Sh.10 shares; no variation for past seven 

years) 

4% preference shares Sh.10 par value 

Reserves 

7% loan 

Capital employed 

290,000,000 

 

90,000,000 

- 

200,000,000 

                 - 

290,000,000 

275,000,000 

 

50,000,000 

10,000,000 

150,000,000 

  65,000,000 

20,000,000 

 

Forecast maintainable equity earnings 

 

33,750,000 

 

20,000,000 

 

 Historical equity earnings and dividends: 

  

 Elgon Company Ltd. Kilima Company Ltd. 

 

Year 

Equity earnings 

Sh. 

Dividends 

% 

Equity earnings 

Sh. 

Dividends 

% 

2002 

2001 

2000 

1999 

1998 

30,000,000 

27,000,000 

19,000,000 

12,000,000 

10,000,000 

10 

10 

  5 

  5 

  5 

19,000,000 

  9,000,000 

  8,000,000 

13,000,000 

  7,000,000 

15 

10 

10 

12.5 

10 

 

      Elgon Company Ltd.  Kilima    Company Ltd. 

 Agreed P/E ratio for amalgamation   20    15 

 

 Required: 

 

 Comment on the values which have been placed on the ordinary shares for the purpose of merging the two 

companies.                   (10 marks) 

                                 (Total: 20 marks) 

QUESTION TWO 

The board of directors of the Kaluma Power Corporation has decided that, for the purpose of testing whether its 

capital investment projects are acceptable, a compound interest (DCF) rate of 8% per annum will be used in 

evaluating investment projects. 
 

All investment project is now under consideration.  Estimates of the expected cash flows over forty years, are as 

follows: 
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 Expected cash flow during each year 

 

Years 

Net receipts 

Sh. Million 

Net payments 

Sh. Million 

  1 -   5 

  6 – 10 

11 – 20 

21 – 40 

- 

1,500 

   800 

   400 

2,000 

- 

- 

- 
 

The expected residual value of the assets is zero. 

 

Required: 

(a) Show whether the project satisfies the normal capital budgeting criteria for acceptance. (5 marks) 

(b) Show how sensitive the calculation in (a) above is to: 

 

 (i) An increase in the residual asset value from zero to sh.1, 000,000.  (4 marks) 

 (ii) A 1% increase in the initial capital outlay (during each year of the outlay). (4 marks) 

(iii) A 1% decrease in the estimate of expected cash flow during each of the years from 6 to 10. 

          (4 marks) 

 

(c) Show the effect of adopting the project on the ratio of reported profits in years 5 and 6 to net balance sheet 

value of assets at the beginning of those two years.  Comment briefly on the usefulness of the latter type of 

ratio in the interpretation of accounts in the light of your calculation.  (Assume that the expenditure in 

years 1 to 5 is capitalised, that straight-line depreciation is charged after year 5 at 5% per annum, and the 

actual cash flows are according to plan).       (3 marks) 

 

You can assume that all cash flows arise on the last day of each year, that all figures are net of tax and 

expressed in terms of constant price levels, and that working capital for the investment project can be 

ignored. 

                     (Total: 20 marks) 

 

QUESTION THREE 

Juma Company Ltd. Which is effectively controlled by the Juma family although they own only a minority of 

shares, is to undertake a substantial new project which requires external finance of about Sh.400 million, leading to 

a 40% increase in gross assets?  The project is to develop and market a new product and is fairly risky.  About 70% 

of the funds required will be spent on land and buildings.  The resale value of the land and buildings is expected to 

remain equal to or greater than, the initial purchase price.  Expenditure during the development period of the first 4 

to 7 years will be financed from other revenue of Juma Company Ltd.  This will have a consequent strain on the 

company‟s overall liquidity. 

 

If, after the development stage, the project proves unsuccessful, then the project will be terminated and its assets 

sold.  If, as is likely, the development is successful, the project‟s assets will be utilised in production and the 

company‟s profits will rise considerably.  However, if the project proves to be very successful, then additional 

finance may be required to further expand the production facilities. 

 

At present, Juma Company Ltd. Is all equity financed. 

 

The financial manager is uncertain whether he should seek funds from a financial institution in the form of an 

equity interest, a loan (long or short term) r convertible debentures. 

 

Required: 

(a) Describe the major factors to be considered by Juma Company Ltd. In deciding on the method of financing 

the proposed expansion project.        (8 marks) 
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(b) Briefly discuss the suitability of equity, loans and convertible debentures for the purpose of financing the 

project from the point of view of: 

 (i) Juma Company Ltd.                   (3 marks) 

 (ii) The provider of finance.                   (3 marks) 

 

 Clearly state and justify the type of finance recommended for Juma Company Ltd. 

 

(c) Butere Sugar Company Ltd. Has been enjoying a substantial net cash inflow.  Before the surplus funds are 

needed to meet tax and dividend payments, and to finance further capital expenditure in several months 

time, they are invested in a small portfolio of short-term equity investments. 

Details of the portfolio, which consist of shares of four companies listed on the stock exchange, are as 

follows: 

  

Company Number of 

shares 

Beta equity 

coefficient 

Market price 

per share  

Sh. 

Latest 

dividend yield    

% 

Expected return on 

equity in the next year     

% 

A Ltd 

B Ltd 

C Ltd 

D Ltd 

  60,000 

  80,000 

100,000 

125,000 

1.16 

1.28 

0.90 

1.50 

42.90 

29.20 

21.70 

31.40 

6.1 

3.4 

5.7 

3.3 

19.5 

24.0 

17.5 

23.0 

 

 The current market return is 19% a year and Treasury bill yield is 11% a year. 

 Required: 

On the basis of the data given above, calculate the risk of Butere Sugar Company Ltd.‟s short-term 

investment portfolio relative to that of the market.     (6 marks) 

                     (Total: 20 marks) 

 

QUESTION FOUR 

(a) Discuss the role of financial management in an international setting with particular reference to: 

 (i) Currency exchange rates.      (4 marks) 

 (ii) Sources of finance       (4 marks) 

 (iii) Investing in overseas countries.      (4 marks) 

 

(b) A Kenyan import-export merchant was contracted on 31 December 2002 to buy 1,500 tonnes of a certain 

product from a supplier in Uganda at a price of Ush.118, 200 per tonne.  Shipment was to be made direct 

to a customer in Tanzania to whom the merchant had sold the product at TSh.462, 000 per tonne.  Of the 

total quantity, 500 tonnes were to be shipped during the month of January 2003 and the balance by the end 

of the month of February 2003.  Payment to the suppliers was to be made immediately on shipment, whilst 

one month‟s credit from the date of shipment was allowed to the Tanzanian customer. 

 

The merchant arranged with his bank to cover those transactions in Kenya shillings (Ksh.) on the forward 

exchange market.  The exchange rates at 31 December 2002 were as given below: 

  

 Ush. TSh. 

Spot 

1 month forward 

2 months forward 

3 months forward 

22.85 – 23.20 

1.50 – 1.30 discount 

1.65 – 3.85 discount 

3.75 – 7.00 discount 

17.14 – 17.18 

2.50 – 1.50 premium 

4.00 – 3.00 premium 

6.50 – 5.50 premium 

 

 The exchange commission is Ksh.10 per Ksh.1, 000 (maximum Sh.1, 000,000) on each transaction. 
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Required: 

 Calculate (to the nearest Ksh.) the profit that the merchant made during the transaction. (8 marks) 

                                (Total: 20 marks) 
 

QUESTION FIVE 

(a) Explain two circumstances under which dilution of earnings might be acceptable to the shareholders of one 

of the companies in a take-over deal.       (4 marks) 

(b) What are the advantages and disadvantages of a rights issue from the point of view of: 

 (i) The issuing company?        (3 marks) 

 (ii) The shareholders?        (3 marks) 
 

(c) The six-month cash forecast for Ken Electricals Ltd., which manufactures household electrical goods 

shows that, unless drastic action is taken,  the company will be in a serious liquidity problem.  It is decided 

that outlay on all types of expenditure must be reduced without significantly affecting the forecast sales. 

Select six headings of expenditure where you consider economies could be made, and describe how you 

would achieve savings in these areas.                        (10 marks) 

                     (Total: 20 marks) 

……………………………………………………………………….………………. 

 

December 2002 
Answer ALL questions. ALL questions carry equal marks. Show ALL your workings. 
 

QUESTION ONE 

(a) What are the limitations of the Capital Asset Pricing Model (CAPM) as an investment appraisal technique?

           (4 marks) 

(b) Tom Donji an investment specialist has been entrusted with Sh.10 million by a unit trust and instructed to 

invest the money optimally over a two-year period.  Parts of the instructions are that: 

The funds be invested in one or more of four specified projects and in the money market 

The four projects are not divisible and cannot be postponed. 

The unit requires a return of 24% over the two years. 
 

The following are details of the investment in the projects and the money market. 

 

   Initial  Return over  Expected standard deviation 

   Cost  the two years  of returns over the two-years 

   Sh.‟000‟  %    % 
Project 1 (P1)  6000   22      7 

Project 2 (P2)  4000   26      9 

Project 3 (P3)  6000   28    15 

Project 4 (P4)  6000   24    13 

Money Market (MM) 1000 (minimum) 18      5 

The correlation coefficients of returns over the two-years are as follows: 

 

Between  Between Projects between Projects  between Money  

Projects  and Market  and the Money   Market and Market 

   Portfolio (MP)  Market (MM)   Portfolio 
 

P1 and P2 = 0.70  P1 and MP = 0.68  P1 and MM = 0.40  MM and MP = 

0.40 

P1 and P3 = 0.62  P1 and MP = 0.65  P2 and MM = 0.45 

P1 and P4 = 0.56  P3 and MP = 0.75  P3 and MM = 0.55 

P2 and P4 = 0.57  P4 and MP = 0.88 

P3 and P4 = 0.76 
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Over the two-year period, the risk free rate is estimated to be 16%, the market portfolio return, 27% and 

the variance of the return on the market, 100%. 
 

Required: 

By analysing the two-asset portfolios: 

(i) Use the mean-variance dominance rule to evaluate how Tom Donji should invest the Sh.10 

million.          (8 marks) 

(ii) Determine the betas and required rates of return for the portfolios and then use the Capital Asset 

Pricing Model (CAPM) to evaluate how Tom Donji should invest the Sh.10 million.            

           (8 marks) 

 

QUESTION TWO 

Safariloam Limited issued a Sh.100 million par value, 10-year bond, five years ago.  The bond was issued at a 2 

per cent discount and issuing costs amounted to Sh.2 million. Due to the decline in Treasury bill rates in the recent 

past, interest rates in the money market have been falling presenting favourable opportunities for refinancing.  A 

financial analyst engaged by the company to assess the possibility of refinancing the debt reports that a new Sh.100 

million par value, 12 per cent, 5-year bond can be issued by the company.  Issuing costs for the new bond will be 5 

per cent of the par value and a discount of 3 per cent will have to be given to attract investors. The old bond can be 

redeemed at 10 per cent premium and in addition, two months interest penalty will have to be paid on redemption. 

All bond issue expenses (including the interest penalty) are amortised on a straight-line basis over the life of the 

bond and are allowable for corporate tax purposes. 

 

The applicable corporate tax rate is 40 per cent and the after tax cost of debt to the company is approximately 7%. 

 

Required: 

(a) Cash investment required for the refinancing decision.     (9 marks) 

(b) Annual cash benefits (savings) of the refinancing decision.    (6 marks) 

(c) (i)   Net Present Value (NPV) of the refinancing decision.                (13 marks) 

 (ii)   Is it worthwhile to issue a new bond to replace the existing bond?  Explain.  (2 marks) 

           (Total: 20 marks) 

QUESTION THREE 

Matibabtu Pharmacia Ltd. recently carried out clinical trials on a new drug which was developed to reduce the 

effects of diabetes. 

 

The research and development costs incurred on the drug amount to Sh.160 million.  In order to evaluate the 

market potential of the drug, an independent research firm conducted a market research at a cost of Sh.15 million.  

The independent researchers submitted a report indicating that the drug is likely to have a useful life of 4 years 

(before new advanced drugs are introduced into the market).  It is projected that in the year the drug is launched it 

could be sold to authorised drug stores (chemists and hospitals) at Sh.20 per 500mg capsule.  After the first year, 

the price is expected to increase by 20% per annum. 

 

For each of the four years of the drug‟s life, the sales have been estimated stochastically as shown below: 

 

   Number of  

   Capsules sold  Probability 
   11 million         0.3 

   14 million         0.6 

   16 million         0.1 

 

If the company decides to launch the new drug, it is possible for production to commence immediately.  The 

equipment required to produce the drug is already owned by the company and originally cost Sh.150 million.  At 
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the end of the drug life, the equipment could be sold for Sh.35 million.  If the company decides against the launch 

of the new drug, the equipment will be sold immediately for Sh.85 million as it will be of no further use to the 

company. 

The new drug requires two hours of direct labour for each 500 mg capsule produced.  The cost of labour for the 

new drug is Sh.4 per hour.  New workers will have to be recruited to produce the new drug.  At the end of the life, 

the workers are unlikely to be offered further employment with the company and redundancy costs of Sh.10 

million are expected.  The cost of ingredients for the new drug is Sh.6 per 500mg capsule.  Additional overheads 

arising from the production of the drug are expected to be Sh.15 million per annum.  Additional work capital of 

Sh.2 million will be required during the drug‟s 4-year life. 

 

The drug has attracted interest of the company‟s main competitors and if the company decides not to produce the 

drug, it could sell the patent right to Welo Kam (K) Ltd., its competitor, at Sh.125 million.  The cost of capital is 

estimated to be 12%. 

 

Required: 

(a) The expected Net Present Value of the new drug.     (16 marks) 

(b) State with reasons whether the company should launch the new drug.   (2 marks) 

(c) Discuss one strength and weakness of the expected Net Present Value approach for making investment 

decisions.          (2 marks) 

Ignore Taxation         (Total: 20 marks) 
 

QUESTION FOUR 

A local supermarket chain wishes to increase the number of its retail outlets in the country.  The board of directors 

of the company has decided to finance the acquisition by raising funds from the existing shareholders through a 

one for four rights issue.  The recently published income statement of the company for the year ended 31 October 

2002 has the following information: 

 

 Sh.‟000‟ 

Turnover 

Profit before interest and tax 

Interest 

Profit before taxation 

Corporate tax 

Profit after taxation 

Ordinary dividends 

Retained profit for the year 

246,750 

18,900 

    8,300 

    9,600 

    2,850 

6,750 

    3,000 

3,750 

 

 

The share capital of the company consists of 12 million ordinary shares with a par value of Sh.5 per share.  The 

shares of the company are currently being traded on the Stock Exchange with a price/earnings ratio of 22 times.  

The board of directors has decided to issue the shares at a discount of 20 per cent on the current market value. 

 

Required: 

(a) The theoretical ex-rights price of an ordinary share of the company.   (10 marks) 

(b) The price at which the rights in the company are likely to be traded.   (4 marks) 

(c) Assuming an investor held 4,000 ordinary shares of the company before the rights issue announcement 

evaluate the following options and identify the best option to the investor. 

 (i) Exercise the rights.        (2 marks) 

 (ii) Sell the rights         (2 marks) 

 (iii) Do nothing.         (2 marks) 

           (Total: 20 marks) 
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QUESTION FIVE 

a) Discuss the importance and limitations of Executive Share Option Plans (ESOPs) in mitigating 

management/shareholder agency conflicts.      (7marks) 

 

b) Highlight the potential advantages and disadvantages for the host country of Foreign Direct Investment 

(FDI) by multinational companies.       (7 marks) 

 

c) Write notes distinguishing the following instruments used in international financial markets: 

 

 (i) The Euro.         (2 marks) 

 (ii) The Euro bonds         (2 marks) 

 (iii) The Euro dollars.        (2 marks) 

           (Total: 20 marks) 
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